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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271945
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592732725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following letter series:

MQ,  ,CG,XB

Options:

1. * HM
2.« HL
3.« JK
4. =L

Question Number : 1 Question Id : 54592732725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

MQ, , CG, XB

Options:

1. = HM
2. v HL
3. = JK
4. = JL

Question Number : 2 Question Id : 54592732726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing term in the following series:

M3L, P50, S7R, ___

Options:

1. = V12W
2. v VU
3. = U12Y
4. = U9X

Question Number : 2 Question Id : 54592732726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

M3L, P50, S/R,

Options:

1. = V12W
2. v VOU
3. = U12Y
4. » U9X

Question Number : 3 Question Id : 54592732727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the following series:

PNO, RPQ, TRS, VTW, XVW
Options:

1. = PRQ
2. » TRS
3. vVITW



4. » XVW

Question Number : 3 Question Id : 54592732727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TaEd SEer # Teld T AT

PNO, RPQ, TRS, VIW, XVW

Options:

1. = PRQ
2. = TRS
3. v VIW
4. = XVW

Question Number : 4 Question Id : 54592732728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. v Dogs

2. » Peacocks
3. = Parrots
4. = Frogs

Question Number : 4 Question Id : 54592732728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow a7 [Oefedl A 4, did U ead dileh 8 AT &

&Tollloh, Ueh Tdhed e dlel T dig olel &l 3T Aeq &

el L ST AT T 37T &1

Options:




Question Number : 5 Question Id : 54592732729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = LNI
2. = HJE
3.v Q80
4. = XZU

Question Number : 5 Question Id : 54592732729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU a0 geredl & &, dieT U Afead aies & @A &

&TeliTeh, Ueh Taeheq 3ed died T ol el &1 39 [reT &
T Y ST ATRT T 37el4T ¢

Options:

1. = LNI

2. = HIE
3. v QS0
4., = XZU

Question Number : 6 Question Id : 54592732730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which is
differently related.

Options:

1. = Novice : Veteran

2. » Analysis : Synthesis

3. = Celestial : Earthly

4. v Hallucination : Illusion

Question Number : 6 Question Id : 54592732730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 17 [Ghreul A 3 ersal & ST ThaAT Joiad & T Th
SIBT 37619 g & TaTSd &1 39 SHal &l ATd Y oI 37erdT
g & garadT gl

Options:

1. = ARV : gAgg
2. » [deelyoT : gealvor
3. % FANGIT : HETNFR
4, v st : foers

Question Number : 7 Question Id : 54592732731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Buffalo : Mammal :: Lizard : ?

Options:

1. = Animal
2. v Reptile
3. = Amphibian



4. = Arthropod

Question Number : 7 Question Id : 54592732731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« Y S dIaX U8 8 38T TR & T@aidd &
o 7hT & Ugell U g 9% & Faiad gl

9 : TIIURT ; 9her ¢ ?

1. = SlTelay
2.JCFIWC|'
3. * IHIW
4. = GIYITE

Question Number : 8 Question Id : 54592732732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the pair that is related on the same basis to the pair
given in the question.

Gambler : Casino :: ?

Options:

1. = Professor : Teacher

2. v Professor : University
3. = Professor : School

4. = Professor : Education

Question Number : 8 Question Id : 54592732732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3 SET T Ide Y ST 38T MR W eiad a6, o g 3R
9T gaTel H & 918 Siar garad &l

ira'ﬂﬁ' - HEAT o ?
Options:

1. = UTETYh © 3T

2. v UTAT9 : [deaidedrery

3. = UTedTIeh : faedre

4. % GTegTOeh ; TEveIT

Question Number : 9 Question Id : 54592732733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the pair that is related on the same basis to the pair
given in the question.

LRX :PVB 1 ?
Options:

1. * CHM : GLP
2. * SNP : VMR
3. v MTW : QXA
4. » LNR: PLZ

Question Number : 9 Question Id : 54592732733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 SNET T I R S 38T MUR W geiad &, g 3R
9T gaTel H 4 915 Siar garad &l

LRX : PVB 1 ?

Options:



1. = CHM : GLP
2. » SNP : VMR
3. v MTW : QXA
4. » LNR : PLZ

Question Number : 10 Question Id : 54592732734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language MISTER = 42, FLUTE = 30,
ORANGES = 56, then what is the value of BEAUTIFUL?

Options:

1. = 80
2. % 85
3.+ 90
4 %72

Question Number : 10 Question Id : 54592732734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk TofeTd &g 991 &, MISTER = 42, FLUTE = 30,
ORANGES = 56 &, d BEAUTIFUL & Hed 1 &7

Options:

1. = 80
2. = 85
3. v 90
4. = 72

Question Number : 11 Question Id : 54592732735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If plate is coded as cup, cup is coded as fork, fork is coded as
spoon, spoon 1s coded as casserole, then what is used to drink
tea?



Options:

1. » spoon

2. v fork

3. = casserole
4. %= cup

Question Number : 11 Question Id : 54592732735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTe Tolc &l IS YT &, T &l HIS hiel §, P hl i
AFAT &, TFEAT T hIS AUl &, dF AT Uie & Tolw a7
SEAHATS TohdT ST &7

Options:

1. = IJFAT

2. v FIeT
3. » hOlrel
4. = FT

Question Number : 12 Question Id : 54592732736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,

si kan hi tap 1l means here is school bus stop
nat tap pa sat means he comes from school
sat 1i tan sl means bus comes here late

hi nat li tap fi means school is far from here
What is the code for 'stop?

Options:

1. v kan
2. % sl
3. = hi
4. = tap



Question Number : 12 Question Id : 54592732736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TATRTrd &g #INT A,

si kan hi tap li T 3727 § here is school bus stop
nat tap pa sat &T 379 & he comes from school
sat |i tan si T IT & bus comes here late

hi nat li tap fi ST 3727 § school is far from here

'stop' T hIS FAT &7

Options:

1. ¢ kan
2. % gl
3. = hi
4, = tap

Question Number : 13 Question Id : 54592732737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Allan, Bill, Charlie, David and Ethan are sitting on a bench
facing the same direction. David is sitting to Bill’s immediate
right. Charlie is sitting to Ethan’s immediate left. There is
exactly one person sitting between David and Charlie. If Allan
is not sitting at either end, who among these friends are
sitting at the two ends of the bench?

Options:

1. v Bill and Ethan

2. » David and Charlie
3. =« David and Ethan
4. = Bill and Charlie

Question Number : 13 Question Id : 54592732737 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Toll, Tarer, ATelf, 3/A8 3R vad U a8 W §S &1 5 Gl r
He U &1 faem A g1 STds, 9ol & Ushed a3 30 ST B

ATell, Tl I &5 3 SOl § SIdish s/ds 3T dATell & AT Sk
TUeh STd a7 &l Tl Vol alal BRI 9T A8l ST &, ar 3
SIEdl # & hid &9 & el R W §aT §7

1. v el 3T vya
2. = 3fas 3T drelr
3. = 3fd3 3N vuw
4. = foer 3R =Telf

Question Number : 14 Question Id : 54592732738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Students of a class scored marks as given below In a class test.
Hetal scored 7 marks more than Ankita. Faizal scored 8
marks more than Krishna. Ankita scored 5 marks less than
Ganga. Ganga scored 10 marks more than Krishna. If Faizal
scored 43 marks, how many marks did Ankita score?

Options:

1. » 42 marks
2. v 40 marks
3. = 38 marks
4. = 39 marks

Question Number : 14 Question Id : 54592732738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh h&TT o BTAl of Teh HaTT WIS H A QU 1w 31! r
g 3k FAI7|

golel o 3fehaT & 7 37 3119 TR TordT| thaTel of Foom & 8
3 TR TR TRAT| IRAT o 30T & 5 3 FA TR haT|
A o 50T & 10 37h 37 TR fhAT| FTE Hhater o 43 37
TR foru, ar 3fohar o Tohda 3k gTfee fpu?

Options:

1. % 42 37k

2. v 40 3+
3. = 38 37
4. = 39 37h

Question Number : 15 Question Id : 54592732739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which is
differently related.

Options:

1. = Dog - Kennel
2. v Cow - Moo

3. = Horse - Stable
4. = Hen - Coop

Question Number : 15 Question Id : 54592732739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 TSFedy H o=l ST 3 SISl GATT &9 & Feeiad g, MR
Teh SIal 37edT g O Gardd &l 38 SISl ol ATd Y S 3eldr
g O gafad g

Options:




1. % FcdTl - hed T T
o -

2.«»??”?[-3{\
Swu’lsT-gg%nﬂ
4. = M - 79

Question Number : 16 Question Id : 54592732740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that arranges the words given below in the
most appropriate and meaningful sequence.

1. Forest
2. Branch
3. Tree

4. Leaf

Options:

1. v 4-2-3-1
2. % 3-1-2-4
3. = 3-4-1-2
4 % 4-1-2-3

Question Number : 16 Question Id : 54592732740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A BT 37 orsay &I Tod 3YYFd 3T g@rds 3TaIohA pal
TITEUT e Tl [QheT T TqTeT F|

1. Forest
2. Branch
3. Tree
4. Leaf



Options:

1. v 4-2-3-1
2. = 3-1-2-4
3. = 3-4-1-2
4. = 4-1-2-3

Question Number : 17 Question Id : 54592732741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The criteria for selecting a Branch Manager have been given
as under:

The candidate must:

1. Be a graduate in any stream with at least 50% marks.

2. Be an MBA or hold a post-graduate diploma in any stream
of management with 50% marks

3. Be between 30 and 45 years old on the date of application
4. Have branch managing experience of more than 3 years
The following exceptions apply:

A. If a candidate meets all other criteria except 4 above, the
candidate will be referred to the General Manager.

B. A candidate whose age is more than 45 years but less than
50 years will be referred to the HR Head.

Shobha Kunwar is an Arts graduate with post-graduation in
Personnel Management. She has scored more than 72% in
graduation and 81% in post-graduation. She is 36 years of age.
She has been the branch manager of the town branch of a
reputed {irm for more than 2.5 years.

What decision should be taken about this candidate?

Options:



1. = The candidate should be selected.

2. = The candidate should be rejected.

3. v The candidate should be referred to the General Manager.
4. = The candidate should be referred to the HR Head.

Question Number : 17 Question Id : 54592732741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk ATET Yseh & Thl + Ales fdFargar v v g:
BmET:I'ITEIffEIT%‘U:

1. hH 8 FH 50% 37ht & Gy fordr o &&H & T &l
2. MBA & I 50% 3Rt % @rer Heterdie $T frar off &\ A
EolTdehical TSTATAT &l

3. 3MAge @l T 30 & 45 a¥ < & &

4. 3§ AT TU FT AW AT FT AT &
fetfel T 319arg o9] gl &

A. IE FIE 3FACAR 3WIFT 4 FI BISHT 37T THT ATAGST
P T AT &, T SFAGIR I AGIYSESR & I AT S0
B. Ush AR foraehr 3mg 45 a¥ @ 3ifae &, ofher 50 af
q A §, B HR AT & 99 AT SIea

SUES ihm HITHE TTTd H FATdehlcdd o T 3cH H TS &
| 38a TalTdeh H 72% & 3Ok 33N Tordaicad # 81% 3
e v & 3R 3H 36 av &1 g8 2.5 ¥ @ Ok gEw @
Teh UTdTSEd ®A hl &L T@ET T L& Ua9dh &

ST 3FACAR o g} H Fa7 9o foRr Ser g’



Options:

1. = 3FAICAR T I gl AR

2. » 3IFAICANR I TR HT &7 FTaT 180
3. v 3FAICAN I AGVEYh, [AUUld & 91 AT ST dIgv|
4. » 3FAEAR HT HR 85 & 9 JIEAT & I ST AE0|

Question Number : 18 Question Id : 54592732742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements have been given followed by
two conclusions numbered I and II. Assuming that all
information in the statement is true, analyse the two
conclusions together and determine whether any of them
logically and definitely follow(s) from the information given
in the statement.

Statements:

I. All boats are ships.
II. No ships are submarines.

Conclusions:
I. No submarine is a boat.
II. Some submarines are boats.

Options:

1. v Only conclusion I follows

2. = Only conclusion II follows

3. = Either conclusion I or conclusion II follows

4. = Neither conclusion I nor conclusion II follows

Question Number : 18 Question Id : 54592732742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST Wed H, & Yo | 3T || & ar oy f&w v & I8 Al
gV o Fuet & Tl STl Hea & oY oSyl T T TTY
fareayor ¥ 3N uia & F Faa #F &7 718 JEFRTr 7 §
HIS o dfeher §9 @ AR fARET €7 @ 3HTEI0T FIAT B

h o]
. HT A9 FET &
I. IS off STgTST Teigssll Gl &

IGLER b
. T TeIgesl Teh oA1d el g

|. e YelSsal ol &l
ot o)

Options:

1. v hdel oISy | 37eTETOT FLc] Y

2. = el TSRy || 37TEIOT FIAT g
3. = AT A fshy | AT fAshy || 3Te[EROT FICT &
4. » o 1 fasshy | 3T & &1 foisar || 3Te7aoT T &

Question Number : 19 Question Id : 54592732743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In this question, a statement has been given, followed by two
courses of action numbered I and II. Assuming that
everything in the statement is true, determine which of the
suggested courses of action is/are logically worth pursuing.
Statement: Roads in the city got flooded, people got stranded
and vehicles had to be abandoned after the rains lashed the
city for over 4 hours.

Courses of Action:

I. The municipal authority should have the drains cleaned up
and lay larger storm drains for discharging flood water out of
the city.

II. General public should take steps to unclog the drainage
system and plant more trees, harvest rainwater so that rain
water run-off is minimised.

Options:

1. = Only course of action I follows.

2. = Only course of action II follows.

3. v Both courses of action I and II follow.
4. = Nelther I nor II follows

Question Number : 19 Question Id : 54592732743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IO W H, Ueh el AT AT §, THE FIG HRAUUTT & ar
qr&IdshA | 3T || v v &1 I8 a—lldﬁgu foh e A @9 F©
e g, I8 ToaiRa & for BRar & &l & gm0 v ureashA
dTieheh T H 3HEOT Flal J9T &

e 2T ﬁﬂsﬁ?ag?lé%,mdﬁgtf%m4ﬁ%ﬁ
T TAT doh UL H TTNET & TS d1@al hl BISAT I3T)

FIRIYUTT & e

|. TERUTTeIRT WITYRIOT sl 9IET & FIgL d1¢ o Uleil o [odael
& fow arferar 1 GnE FEr AMET 3§95 Jhier dtel el
I LT ATET|

|l 3TTH STIdT T STellelehiT WUl &l 8¢ i 3T 3ifaw &
T 95 o9, STeT & UTal &l hels el & [olT heH
33T AIEU dTfeh ATIET s Wleil ol S&1d Ha &l

Options:

1. = Shael FRVOMC & NI | 3FTEIOT FIAT &

2. = ael |l KGO & R Ie[EIOT FIAT &

3. v FHRVUTEN & SRl | 3 1| el Tereor i &
4.« o | AT AT 1| & HTEIOT FIAT

Question Number : 20 Question Id : 54592732744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following number series:

21.5, 23, 25.5, 29,

Options:



1. % 325
2. % 34

3. % 31.25
4, v 335

Question Number : 20 Question Id : 54592732744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFaTaEd aEaT e ST Q@ H:

o,

21.5, 23, 25.5, 29,

Options:

1. = 32.5
2. = 34

3. = 31.25
4. v 33.5

Mental Ability2
Group Number : 2
Group Id: 5459271622
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 5459271622
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271946
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592732745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong number in the following number series:

8, 15, 25, 35, 48

Options:

1. % 15
2.v 25
3. % 35
4. % 48

Question Number : 21 Question Id : 54592732745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TrTolad T&ar s@er # @ el &I AT

8, 15, 25, 35, 48

Options:

1. = 15
2. v 25
3. = 35
4. = 48

Question Number : 22 Question Id : 54592732746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

5:24 707
Options:

1. » 47
2. % 52
3.v48
4. % 49

Question Number : 22 Question Id : 54592732746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
g o9 9 @ ugell d&aT I §EAT @ el g

5:24 7 7
Options:

1. = 47
2. » 52
3. v 48
4. = 49

Question Number : 23 Question Id : 54592732747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

12 :106 :: 23 :7
Options:

1. = 208
2. % 202
3. v 205
4. % 196

Question Number : 23 Question Id : 54592732747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
g o9 9 @ ugell d&aT I §EAT @ el g

12 : 106 » 23 : 7

Options:

1. = 208
2. = 202
3. v 205
4. = 196

Question Number : 24 Question Id : 54592732748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

8, 27, 64, 125, , 343

Options:

1. = 235



2. % 242
3. v 216
4, = 225

Question Number : 24 Question Id : 54592732748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFToTaT F&ar &er A Gk TEAT I ATT Fi

8, 27, 64, 125, , 343

Options:

1. = 235
2. ® 242
3. v 216
4. = 225

Question Number : 25 Question Id : 54592732749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

10125, 2025, , 135,45

Options:

1. = 750
2. % 625
3. = 825
4. v 675

Question Number : 25 Question Id : 54592732749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feTfaTaT a&ar s/&er | AT TEIAT I ATT FI|

10125, 2025, , 135, 45

Options:

1. = 750
2. = 625
3. = 825
4. v 675

Question Number : 26 Question Id : 54592732750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 3y -6 > 21, then which among the following is true?

Options:

l.xy>06
2. %y <7
3.5y <35
4. vy>9

Question Number : 26 Question Id : 54592732750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife 3y -6 > 21 &, O TeaAToi@d & & i @1 e &7

Options:

1. = y > 6

2.0 %y <]
3. » y <5
4, vy > 9

Question Number : 27 Question Id : 54592732751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The total of the ages of Akash, Navin and Kailash 1s 60 years.
What was the total of their ages three years ago?

Options:

1. = 52 years
2. % 37 years
3. = 54 years
4. v 31 years

Question Number : 27 Question Id : 54592732751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TRTRT, dAdTel 3T hollel hl 3H Fel 60 gy &1 dlel GTel Ugal
3eTehT 3H Fo ToRdaT 277

Options:

1. = 52 @¥
2. = 57 ay
3. » 54 ay
4, v 51 @y

Question Number : 28 Question Id : 54592732752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A businessman earns an income of Rs. 1 on the first day of his
business. On every subsequent day, he earns an income
which is three times of that made on the previous day. What
is his income on the 7th day?

Options:

1. » Rs. 2187
2. v Rs. 729
3. = Rs. 243
4. » Rs. 1458

Question Number : 28 Question Id : 54592732752 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Ueh SUqURT 3Yel =OadT o Ugel fael 1 $UT 1 31T i
FIAT &1 3TF FE U g, T& AT T HTold HIdT & ar
Toeel et T 91% 3T T ofiel [l Bl &1 7 o ot 3qehr 3
AT &7

Options:

1. = 2187 3q
2. v 729 39
3. * 243 T
4. = 1458 T

Question Number : 29 Question Id : 54592732753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two numbers should be interchanged to make the
below equation mathematically correct?

396 +4+6-5%x3=55
Options:

1. % 5,06
2.% 06,3
3.v4,6
4 %4 3

Question Number : 29 Question Id : 54592732753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s U 7T FATRIOT FY AUCERT FT & TgT Fellel o olw fohet
2l GEIT3T Y TWEW TATATART AT SATar I1ige?

396 + 4 +6 -5x 3 =55

Options:



1. = 5, 6
2. = 6, 3
3. v 4, 6
4. = 4, 3

Question Number : 30 Question Id : 54592732754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams best represents the
relationship between Indians, humans and living things?

Options:

(&

3. %

2@

Question Number : 30 Question Id : 54592732754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d A & Sl A7 I NG ARA, AFsAT 3 ST
AT & ST F FET T I THT AT 57

Options:




—
<

50 ® ©

Question Number : 31 Question Id : 54592732755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following figure, circle represents Asians, triangle
represents astronomers, square represents physicians and
rectangle represents women. Which set of letters represents
women who are physicians?

AN

Options:

1. = BC
2. % DC
3.=F



4. v CH

Question Number : 31 Question Id : 54592732755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATlEd 3Rfd #, ged ORRIEmgar & g=ifdr §, Feaor zena
ey &Y gefar &, a9t Rifercaesr +r gefar & 3w 3maa
ATET3 T TRITAT &1 38T KT i AT ¢ ATRATHT hr AT

g oif Rfehcas 87

/:\\
Options:
1. = BC
2. » DC
3. = F
4, v CH

Question Number : 32 Question Id : 54592732756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car is being parked in a housing society. It enters a gate that
1s facing West. Then it travels for 300 metres straight before
turning 90 degrees in the anti-clockwise direction. It further
travels for 200 metres, turns 90 degrees in the clockwise
direction, goes for 5 metres and turns 90 degrees in the
anti-clockwise direction. After going 50 metres, it stops.
Which direction is the car facing finally?

Options:

1. = South



2. » East
3. v North
4. = West

Question Number : 32 Question Id : 54592732756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S3THT TSl H T T3T hT ST I8 &1 T§ T dic # uder
Sl & S 91easd T 3N &1 T I8 adEag feem & 90 34T
W AZA § Tgel W 300 AT ST &1 I 200 Her AT 3ma
ST &, eferonad feem # 90 f3aft ox 7sdr &, 5 Her o &
3T 90 39t A arATac faem & #sdr &1 50 AT S F e,
qE Fh Sl ©

FR FT Hg MERR ha feem Hr 31 g7

Options:

1. » GI&oT
2.+ qg

3. v 3ca¥
4. = YIeOH

Question Number : 33 Question Id : 54592732757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In this question, two statements are given followed by an
inference. Analyse the statements and the inference and
determine whether the given inference can be drawn from
the statements.

Statements:
I. Every dog likes to eat meat.
II. Moti is a sheep dog.

Inference: Moti does not like to eat meat.

Options:

1. = The given inference is definitely true.
2. v The given inference is definitely false.
3. » The given inference could be true or false.

4. = This inference cannot be drawn from the given
statements.

Question Number : 33 Question Id : 54592732757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 Ul H, & FUAl F G Uk IHefATel ST ST &1 Fdail
3N 3egATer HT faeelvor T 3R fFuiRa & f& fou o
ATl I FdeAl T fARTel ST TRl & AT LTI

hYod:
. 8T Fed T HIG Tl TS
I. AAT AST hT TEGTeIT HIadTell Fed] .y

3ToATT: AT Rl AT TTdAT 98¢ a8l &

Options:



1. =TT I7 3ATST T

2. v e a3 AT ARTT 9 & 38T ¢

3. = T 917 (AT T AT AT & TehelT ¢
4. » UG AT &0 AT Fofel H W] AEH Bl

Question Number : 34 Question Id : 54592732758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

% 1

N

Options:

4 v

Question Number : 34 Question Id : 54592732758 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

leT T 3l 3ThicT Wos 3ThTd & Ucer I T HI?

% 1

N

Options:

Question Number : 35 Question Id : 54592732759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following options shows incorrect order in the
series?

m mipn =1n

1] Il 1] 1] Il
a b c

all

Options:



1.« A
2. % B
3.% C
4.¢vD

Question Number : 35 Question Id : 54592732759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArfaf@a & @ #ia @ RAFeT simer & ed wA fG@mr
T 8

1|

m mipn =1n

1l 11 1] 1] Il
a b C
Options:

1. = A
2. » B
3. = C
4. v D

all

Question Number : 36 Question Id : 54592732760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Figures given in which of the options is most similar to the
two figures given in the question?

N\ g |ldO
P | @B

Options:

e e
1 A




4 %

Question Number : 36 Question Id : 54592732760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forg fasheT & & 7% 3mpfaal wead & & 1 ar AT °
o 3T TATAAT TEAT &7

N g|dO
P | T B

Options:

e e
1. ¢ M A




7O
7 . |0A

N
4 d

Question Number : 37 Question Id : 54592732761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

%E
€3¢
X

Options:
{ L

i. L

O

- X
T

Xo




4 %

Question Number : 37 Question Id : 54592732761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 3T & forE oeT &Y el 3TRfd 7 Wehe Ol & 3MUR

T el TATIT ST ThdT?

©) (3¢
X

Options:

77
1.« 19




Question Number : 38 Question Id : 54592732762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given answer figures, select the one in which the
question figure is hidden/embedded.

Options:

\
XX

3 = \/
4 v LN

Question Number : 38 Question Id : 54592732762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& ¢ 3 RN 7 8, 37 UH HT Tl Y [oTTH Teal
3pfa ffga &

Options:

Question Number : 39 Question Id : 54592732763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.

Options:

1, g jmﬁbxmc

4. =

Question Number : 39 Question Id : 54592732763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR JTRid H =i fG@TT 3@ 49 & ghg FI AR 398
25 fopv a0 g1 & 1% 3ca 3ol &, S & fF 38 el
STl W Ig Far famrs e




Options:

ONF O

[N A
7 N

2 % [0AaANO

Question Number : 40 Question Id : 54592732764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a mirror is placed on the line MN, then which of the answer
figures will be the right mirror image of the given figure?

M
\ ©
/
N
Options: = ﬂ

1.~




A_Lawa@ H

Question Number : 40 Question Id : 54592732764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg Uk gUoT T @M MN 9T T&T 997 &, ar hie AT e
3TRTT &1 a8 3Mpia T F&T gUor gidfss gei?

M

\ O
N /
Options: o ﬂ
1. ¢
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Question Number : 41 Question Id : 54592732765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which among the following dance forms is not associated
with Arunachal Pradesh?

Options:

1. » Chalo

2. » Wancho

3. = Bardo Chham
4. v Jhora

Question Number : 41 Question Id : 54592732765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfaf@a & @ Fia @7 g 7 3%omae yder & Gafdd el
&7

Options:

1. = oIl
2. % gr=
3. » Gl BH

4. v BT

Question Number : 42 Question Id : 54592732766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

consists of Gramathisal (village folk music) and
Gana (city folk music).

Options:

1. = Lavani

2. » Bhaavageet
3. v Naatupura Paatu
4. = Pandavani

Question Number : 42 Question Id : 54592732766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



H ITATIGE (AT Jeh FI) 3T 0T (erET
olleh galrd) emfHer gl

1. % oITgUil
2. = HTgINT
3. v ST 9T
4. = STl

Question Number : 43 Question Id : 54592732767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Baisakhi is celebrated on gvery year.

Options:

1. = 10th March
2. v 13th April
3. » 15th May
4. = 17th April

Question Number : 43 Question Id : 54592732767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SOTET & gTe T HATIT SATAT &

Options:

1. = 10 ART
2. ¢ 13 318er

Question Number : 44 Question Id : 54592732768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hawa Mahal was built by

Options:




1. v Maharaja Sawal Pratap Singh
2. = Akbar

3. » Maharaja Rana Pratap Singh
4. » Humayun

Question Number : 44 Question Id : 54592732768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gar Agel ol fAAToT SaNT ToRaT =T 27|
Options:

1. v FABRTST Hars uarg &8

2. = 3hed

3. * HASRIST JOT U9 g

4.&3@1@\

Question Number : 45 Question Id : 54592732769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IMPS stands for

Options:

1. v Immediate Mobile Payment Service

2. » Internet Mobile Programme Service
3. = Internet Mobile Payment Service
4. = Immediate Mobile Programme Service

Question Number : 45 Question Id : 54592732769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mEeANT (IMPS) T quT wa= &l

Options:

1. v SHISAe AlETSS YA 9idy
2. = Eclac Al e A
3. % Eclelc ATGA UHe o




4. = SATSAE ANES MITH Tod

Question Number : 46 Question Id : 54592732770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

measures changes over time in the general level
of prices of goods and services that households acquire for the
purpose of consumption.

Options:

1. * Wholesale Price Index
2. « GDP Deflator
3. v Consumer Price Index

4. » Nominal Gross domestic product

Question Number : 46 Question Id : 54592732770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTATAT 3T Tar3it hr FrHEaT & ATHET FTH
H TAT & 91T gRdde &l ATIAT § oF 830 # 3THET & 32T
o urea RaT ST &

Options:

1. % 2T Hed Fhleh
2. = SIBIT 3Whect

3. v 3T A H“tlchich

4. %= FTHATT kol EIi?»[\B_EI'IT:Tr

Question Number : 47 Question Id : 54592732771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first budget of the Republic of India was presented by

Options:

1. « H. M. Patel
2. » Yashwant Sinha



3. v John Mathal
4. = Morarji Desai

Question Number : 47 Question Id : 54592732771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T IURTST T IgelT solc AT TEd feraT
IRAT 2T
Options:

1. = UIL.UH. TUcol

2. « Joradd gl

3. v Slid AAS
4, » ARG 3O

Question Number : 48 Question Id : 54592732772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Motion of train is an example of motion.

Options:

1. v translatory

2. % linear
3. = circular
4. = random

Question Number : 48 Question Id : 54592732772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YTITET ST Telell T T Ueh 3BT &

Options:

1. v ®UTART
2. » Y
S.QEILFI'WIT

4. » YEoSh



Question Number : 49 Question Id : 54592732773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is an example of Radiant Energy?

Options:

1. v X-rays

2. = Hot Springs
3. = Clapping

4. = Lightening

Question Number : 49 Question Id : 54592732773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o @d & & i AT RAIUT AT FT T 31807 &7

Options:

1. v TFgY

2. = glc T&veq

3. = dTell sollal]

4. = TSSTelr THRAT

Question Number : 50 Question Id : 54592732774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following acids is weak acid?

Options:

1. = Hydrochloric Acid
2. v Sulphurous Acid
3. = Nitric Acid

4. = Chloric Acid

Question Number : 50 Question Id : 54592732774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT —d H & hid AT 3FT A e 57

Options:




1. % EISgIFlNeh 37Fd

2. ¢ eI 37l

3. = FATST¢eh 3

4. % Fell Lk 3TFdl

Question Number : 51 Question Id : 54592732775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

are called naked seeded plants since the seed is
not covered by fruit wall.

Options:

1. = Bryophytes
2. = Pteridophytes
3. = Angiosperms

4. v Gymnosperms

Question Number : 51 Question Id : 54592732775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I o9eT sTeT aTel TS el STdT & FIifeh siel
ST Wel HI SN GIRT HG el fohdT ST

Options:

1. » FTATHISC]

2. = SNEIREer
3. = 3Adelsil

o

4. v 3eTgdsTsir

Question Number : 52 Question Id : 54592732776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The body of Ctenophora bears external rows of ciliated
comb plates.

Options:




1. = five
2. » four
3. v eight
4, = 1en

Question Number : 52 Question Id : 54592732776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAIPRT T SR ATRRT T Tolal @l SqTELr giekaar
I TROT AT &l

Options:

1. = 9

2. % I
3. v 3G
4. = gH

Question Number : 53 Question Id : 54592732777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is the second largest animal
phylum after Arthropoda?

Options:

1. » Aschelminthes
2. » Annelida

3. = Arthropoda

4. v Mollusca

Question Number : 53 Question Id : 54592732777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FlegdTg & 916 g8 J&d 8T U0l @9 il &1 &7

Options:

1. » UEdeTdedd




Question Number : 54 Question Id : 54592732778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following gases is not a greenhouse gas?

Options:

1. = Methane

2. » Carbon dioxide
3. = Nitrous oxide
4. v Oxygen

Question Number : 54 Question Id : 54592732778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

farataraT 3t & @ Fia O deesg &g 787 &2

Options:

1. = @da

2. % hIeel SIEAFAISS
3. » femepanfa s
4. v 3Ot

Question Number : 55 Question Id : 54592732779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The common name of Folic Acid is

Options:

1. = Vitamin B5
2. » Vitamin B7
3. v Vitamin B9
4. = Vitamin Bl




Question Number : 55 Question Id : 54592732779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RiTolh 3TFel T ATHTET ATH =y

Options:

1. = faerid« B5
2. = dafA« B7
3. v Taarfa« BS
4, = faarid« B1

Question Number : 56 Question Id : 54592732780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s also known as Dakshin Ganga.

Options:

1. v Godavari
2. » Narmada
3. = Damodar
4, = Yamuna

Question Number : 56 Question Id : 54592732780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT ZTEOT @M F T1H O oY Fer AT §

Options:

1. ¢ JNEERT
2. % FAHG
3. ® AL
4, « FHA

Question Number : 57 Question Id : 54592732781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nanda Devi is the highest mountain of

Options:




1. = Gangtok

2. » Sikkim

3. = Kashmir

4. v Uttarakhand

Question Number : 57 Question Id : 54592732781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sar 24T T Fafea 9da &

Options:

1. = JETCIR
2. = ehA
3. » HANX

4. v 3cadTEE

Question Number : 58 Question Id : 54592732782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Palk Strait connects Palk Bay with

Options:

1. v Bay of Bengal

2. = Atlantic Ocean
3. # Indian Ocean
4. = Pacific Ocean

Question Number : 58 Question Id : 54592732782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jooh STOISHEHEY, UTeh JTaT ol ESIECINY

Options:

1. v §IMel hT FTST
2. % 3Tolllcsh AGERER
3. » T§c ABHNR




4. = TR ABTHER

Question Number : 59 Question Id : 54592732783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

soll are also known as reh and kallar.

Options:

1. v Saline And Alkaline
2. « Desert or Arid

3. = Laterite
4, » Red And Yellow

Question Number : 59 Question Id : 54592732783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HaT 1 3§ 3R Feol & a7 F 7 Ser S g

Options:

1. v ERT 3T a8
2.wiﬁwmeﬁ

3. % oedse
4. = ofrer 3T e

Question Number : 60 Question Id : 54592732784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following crops is not a Zaid crop?

Options:

1. * Pumpkin

2. v Barley

3. = Cucumber
4. = Bitter Gourd

Question Number : 60 Question Id : 54592732784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e =T Bl # @ i AT B Ush oG Bd dal &7




Options:

1.« ¥
2. v St

3. = @RI
4. = I
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Group Id : 5459271624
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
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General Awareness2

Section Id : 5459271624
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Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section |d: 5459271948
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592732785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is not a neighbouring country of
India?

Options:



1. = Sri Lanka
2. = Afghanistan
3. = Bhutan

4. v Australia

Question Number : 61 Question Id : 54592732785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & & &I a7 o5 9RT 7 TS1ET 39T 78T &7

Options:

1. = STeleht

2. = 3TRAMTeEdTd
3. « sErd

4, v FHiEgTerT

Question Number : 62 Question Id : 54592732786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

won the first battle of Tarain in 1191.

Options:

1. v Prithviraj Chauhan

2. » Sultan Mohammad Ghori
3. * Shamshuddin IItutmish
4. = Rana Singh

Question Number : 62 Question Id : 54592732786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 1191 & TIFeT T Ugell J§ SIAT oT|

Options:

1. v J2ARTS I
2. = Hodlel AlGFAS T
3. » TAYRIST Fedd AT




4. = qom @

Question Number : 63 Question Id : 54592732787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Parmanand was the poet in the court of

Options:

1. = Prithviraj Chauhan
2. v Shivaji

3. » Harshavardhana
4. = Vikramaditya

Question Number : 63 Question Id : 54592732787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TLHTAS F SR H HF o7

Options:

LY

1. = JdRI=T g

c

2. v Eare
3. » g9gdT

4. » TasrAeT

Question Number : 64 Question Id : 54592732788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Nanda Dynasty?

Options:

1. v Mahapadma
2. * Dhana

3. » Panduka

4. = Bhuta-pala

Question Number : 64 Question Id : 54592732788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o TS1ael T EUTTH hial 2T?




Options:

1. v HgIUH
2. % ol
3. « g
4. = sIg-gTem

Question Number : 65 Question Id : 54592732789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was the successor of Babur.

Options:

1. = Shah Jahan
2. v Humayun
3. » Jahangir

4. = Akbar

Question Number : 65 Question Id : 54592732789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SO T ScaTIshNT 2T

Options:

1. % QM@ ST&l
2. ¢ W

3. % SEEIN

4, = 3FET

Question Number : 66 Question Id : 54592732790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the first battle of Tarain fought?

Options:

1. = 1196
2. v 1191



3.+ 1215
4. % 1150

Question Number : 66 Question Id : 54592732790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT$el T Ugell J& hdl oI5 Al AqT?

Options:

1. = 1196
2. v 1191
3. = 1215
4. = 1150

Question Number : 67 Question Id : 54592732791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhagat Singh was involved in the murder of

order to avenge the death of Lala Lajpat Ral.

Options:

1. = Lord Hastings
2. » Mountbatten

3. = Lord Cornwallis
4. v Mr. Saunders

Question Number : 67 Question Id : 54592732791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SITelT oTeTad T shT Al T ol ol & fow s91g g

T BT H TR 2T

Options:
1. = o5 giecaT
2. % HI3cHcd

3. * ¢lls ladlied

in



4. v TH. dissd

Question Number : 68 Question Id : 54592732792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

"Playing It My Way" is the autobiography of
Options:

1. v Sachin Tendulkar
2. = Kapil Dev
3. = Yuvraj Singh

4. = Sania Mirza

Question Number : 68 Question Id : 54592732792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"CIZT I¢ ATS T HT IHcHRAT gl

Options:

b

1. v g ci%olch{

LY

2. % FHiUel 2d

3.&2@3%"5
4. = giiaar &<

Question Number : 69 Question Id : 54592732793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following books is not written by Ruskin
Bond?

Options:

1. = The Room on the Roof
2. » The Blue Umbrella

3. = Delhi Is Not Far

4. v The Bachelor of Arts

Question Number : 69 Question Id : 54592732793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArATRIT gFdehl & & Il Joas el Sl @RI g
fordy a5 &7

Options:

1. = & ®HF 37T & FF
2. = T so[ el

3. = 3¢l 39 dic BN
4. v g T HE 3EH

Question Number : 70 Question Id : 54592732794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Resul Pookutty won the Oscar for the Best Sound Mixing for

Options:

1. = Gandhi

2. v Slumdog Millionaire
3. » Mother India

4. = Salaam Bombay

Question Number : 70 Question Id : 54592732794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e gghé‘lﬁ F forv gdass eafear e &+
T 3HTEhT FATaT|

Options:

1. = JedT
2. v TorHSET AT

3. » HeY 3f3am
4. = FeITH SFs

Question Number : 71 Question Id : 54592732795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which among the following films won the Filmfare 2019 in
the category of Critics Best Film?

Options:

1. » Padmaavat
2. = Sanju
3. = Raazl
4. v Andhadhun

Question Number : 71 Question Id : 54592732795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fATa@d & & g Thed o T asitas fheA T S0l
A TheAhIT 2019 Sar?

Options:
1. = qHATdd
2. = Hel
3. = Tl
4. v 3T

Question Number : 72 Question Id : 54592732796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the chairman of the National Skill Development
Corporation as of June 2019?

Options:

1. v Anil Manibhai Naik
2. » C.D. Deshmukh

3. = Dr. K.P. Krishnan
4. = Sunita Sanghi

Question Number : 72 Question Id : 54592732796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S[eT 2019 TF TSE hierel [ashre foleTH & 76T Hie 87




Options:

1. v 3Tolel HIUTHTS ATk
2. = €3N SerHE

3. = 3I. .41, F50T

4. = FailcT ATET

Question Number : 73 Question Id : 54592732797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The largest number of International Monetary Fund loans
have gone to continent.

Options:

1. » Asian

2. v African
3. » American
4. = Australian

Question Number : 73 Question Id : 54592732797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ecTSERT AT IV HOT h Fod §87 TEAT
AT # el 8 &

Options:

1. » wfeTs
2. v 3TWhIeRT
3. % TATGRT
4. = SEfomE

Question Number : 74 Question Id : 54592732798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following amendments increased the
ceiling of professional tax?

Options:




1. = 55th
2. v 60th
3. % B1st
4. = 56th

Question Number : 74 Question Id : 54592732798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT eI dl # & Tohdel sIaq™T Y hT ATHAT T o7

Options:

1. = 55 @
2. v 60T
3. = 61 @
4, = 56 @

Question Number : 75 Question Id : 54592732799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The constitution of India was adopted on the

Options:

1. = 26th March 1949

2. » 26th December 1952
3. » 26th January 1948
4. v 26th November 1949

Question Number : 75 Question Id : 54592732799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR & GdUTeT hl T 379eTTIT T 2T

Options:

1. = 26 AR 1949

2. % 26 fegeT 1952
3. % 26 SIail 1948




4. v 26 AgsY 1949

Question Number : 76 Question Id : 54592732800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

First Rajya Sabha was convened in in Independent
India.

Options:

1.~ 1952
2. % 1965
3. = 1955
4. = 1950

Question Number : 76 Question Id : 54592732800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TadT AT H I Ugell ToTHHT FaT$ 75 2|

Options:

1. v 1952
2. = 1965
3. = 1955
4. = 1950

Question Number : 77 Question Id : 54592732801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which schedule was added by the 73rd Amendment Act of
19927

Options:

1. = Eighth
2. = Tenth

3. v Eleventh
4. » Sixth

Question Number : 77 Question Id : 54592732801 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

1992 & 73 9 @yl fafagsd g@rr fora st 1 shgr
IgT?

Options:

1. = 314l
2. « ggar
3. v IgNEdl
4, = BT

Question Number : 78 Question Id : 54592732802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won the Asian Snooker Championship in 2019?

Options:

1. v Pankaj Advani

2. = Asjad Igbal

3. » Thanawat Tirapongpaiboon
4. = Mark Selby

Question Number : 78 Question Id : 54592732802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 # RIS Tt AfFuarfarT ferae Siid?

Options:

1. v Uhal TSATUT

2. * 3HSIE Shdlol

3. % YTetad fraRITEe
4. = HAH Heal

Question Number : 79 Question Id : 54592732803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gagan Narang won a bronze medal in 2012 Olympics for

Options:

1. = boxing

2. v shooting

3. » wrestling
4. = padminton

Question Number : 79 Question Id : 54592732803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IRl ST o & Tow 2012 37U H FIET Ugh
ST T

Options:

1. = HFharol
2. ¢ erl'ﬁ"clT
3. = el
4, » SSTAC

Question Number : 80 Question Id : 54592732804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sakshi Malik won a bronze medal in 2016 Olympics for

Options:

1. = boxing

2. = shooting
3. v wrestling
4. = pbadminton

Question Number : 80 Question Id : 54592732804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



arefl aAfeles o 2016 3ftelius H % folT Frey

ST

Options:

1, = agcré'hmgﬂ

2. = g[icar

S.w??-ﬁ
4. » ST

Arithmetic Ability1
Group Number : 5
Group Id : 5459271625
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271625
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459271949
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592732805 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

ek



Find the value of x:

8 x16+X-4 x 15=4
Options:

1. =1
2. v 2
3.3
4 %4

Question Number : 81 Question Id : 54592732805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X T HT AT F:

8 x 16+X-4 x 15=4

Options:

1. = 1
2. v 2
3. % 3
4. % 4

Question Number : 82 Question Id : 54592732806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Convert 57 decimal to binary.

Options:

1.+ 111001
2. % 111011
3. * 110001
4.« 100111

Question Number : 82 Question Id : 54592732806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



57 SUTHOT Sl S8Rl H Scol|

Options:

1. ¢ 111001
2. % 111011
3. = 110001
4. = 100111

Question Number : 83 Question Id : 54592732807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number’s square when multiplied by 6 will be exactly
divisible by 24, 25 and 307

Options:

1. %5
2. % 8
3.+10
4 % 15

Question Number : 83 Question Id : 54592732807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6 & UM Flal W ohd TEAT &1 F31 24, 25 31X 30 & quiaan
s g Sreem?

Options:

1. = 5
2. = 8
3. v 10
4. = 15

Question Number : 84 Question Id : 54592732808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the value of:

(9%x3+13.5) x (4+6+3) - (8+4x2) =7
Options:

1. % 2
2.% 4
3.2 06
4. v 8

Question Number : 84 Question Id : 54592732808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(9%3+13.5) x (4+6+3) - (8+4x2) = ? T Hed AT Hi|

Options:

1. = 2
2. % 4
3. » 6
4, v 8

Question Number : 85 Question Id : 54592732809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the largest 5-digit number divisible by 4, 5, 6 and 8?

Options:

1. = 96000
2. % 99600
3. v 99960
4. = 99840

Question Number : 85 Question Id : 54592732809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4, 5, 6 3T 8 caRT TAHIGIT T d 12T 5 -3 H&AT &7 &7

Options:




1. = 96000
2. = 99600
3. v 99960
4. = 99840

Question Number : 86 Question Id : 54592732810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the sum of digits of the largest 5 - digit number divisible
by 12, 15, 20 and 25.

Options:

1. v 27
2. % 30
3. % 18
4. % 20

Question Number : 86 Question Id : 54592732810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12, 15, 20 3i¥ 25 zarv fawiela ¥ed &85 5-37h™r 98T
3Rl T AT AT HITAT|

Options:

1. v 27
2. = 30
3. = 18
4. = 20

Question Number : 87 Question Id : 54592732811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A number is divided by 24, 25, 30 and 40. It leaves a
remainder of 5 in each case. Find the smallest possible value
of such a number.



Options:

1. = 1205
2. % 2405
3. = 3605
4. v 605

Question Number : 87 Question Id : 54592732811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush HEAT i 24, 25, 30 3T 40 & Tosriaia fohar SIrar gl
SHH Wcdeh ATHe H 5 oY I&d &1 VHT T&AT T gad oler
AT AT AT hIelT|

Options:

1. = 1205
2. = 2405
3. = 3605
4. v 605

Question Number : 88 Question Id : 54592732812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three runners X, Y and Z practice around a circular path. For
completion of 1 round, they take 132, 110 and 88 seconds
respectively. After how much time will the runners be at the
starting point again?

Options:

1. » 11 minutes
2. » 16.5 minutes
3. v 22 minutes
4. = 33 minutes

Question Number : 88 Question Id : 54592732812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A gk X, Y 3 Z U godehR T & IRI G 3
L &1 1 TFRT YA @l & ToIw, & AR 132, 110 3iiw 88
Ths od Bl fordel AT a1 T args T @ Uil fog «
alar?

Options:

1. = 11 fAde
2. = 16.5 TR
3. v 22 TR
4. = 33 fAdC

Question Number : 89 Question Id : 54592732813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference of 2 numbers a and b is 4 and their HCF and
LCM are 4 and 24 respectively. What 1s the positive difference
of their reciprocals?

Options:

1. = 1/4
2. % 1/8
3. % 1/12
4. v 124

Question Number : 89 Question Id : 54592732813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 AT a AT b T 3aT 4 & 3T 3% Agcad GATIaIS AT
ECAA TATIACTR FA: 4 3 24 §| 3eTsh YcoRAT I
TellcHb 3L AT §7

Options:

1. = 1/4
2. % 1/8




3. % 1/12
4. v 124

Question Number : 90 Question Id : 54592732814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A farmer raises chickens and horses on a farm. In total he has
51 animals whereas the total number of legs are 156. Find the
number of horses he has.

Options:

1. = 21
2. % 24
3.v 27
4. % 30

Question Number : 90 Question Id : 54592732814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vk fhaTe TR BT A G 3R M F ITeldT g1 3HE T
Fel 51 STaAa & STafer Iy Fr Fo J&AT 156 &1 39 99
feorg a1st &1 g&ar AT S

Options:

1. = 21
2. % 24
3. v 27
4. = 30

Question Number : 91 Question Id : 54592732815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A family comprised of a couple and their 2 children. 5 years
ago, the average age of the family was 23 years. 2 years ago,
the average age of the wife and the children was 24 years.
Find the present age of the husband.

Options:

1. = 30 years
2. % 32 years
3. v 34 years
4. = 36 years

Question Number : 91 Question Id : 54592732815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toh URER # ufad 3T 3% 2 s A &1 5 a¥ ugel, 39
IRAT 1 AT 3G 23 ¥ 411 2 ¥ Ugel, Toall AT Fear hr
AT Y 24 ¥ o1 9fd Fr gdAE A AT Hifev

Options:

1. = 30 @¥
2. % 32 a¥
3. v 34 a¥
4. = 36 ¥

Question Number : 92 Question Id : 54592732816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A vegetable seller bought 6 bananas for Rs. 30, another 9
bananas for Rs 90 and another 15 bananas for Rs. 120. At
what price should he sell a banana to earn 25% on the
average cost price?

Options:

1.« Rs. 9
2. v Rs. 10



3. % Rs. 12
4. % Rs. 10.5

Question Number : 92 Question Id : 54592732816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk el [dohal o 30 T H 6 sheh THIE, 90 T & 31T 9
el THIG 3T 120 394 A 3R 15 shel TG AT dHIT Hed
W 25% AT & T 38 hT hIAT 9T hel ST ART?

Options:

1. * 9 T9F
2. v 10 39
3. = 12 3
4. = 10.5 392

Question Number : 93 Question Id : 54592732817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

While weighing a sack of rice, the weighing machine broke. In
X's opinion, the weight of the sack is greater than 80 kgs but
less than 95 kgs, in Y's opinion, the weight of the sack is
greater than 85 kgs but less than 100 kgs and the retailer
believes that the sack weighs not more than 89 kgs. If all of
them are true in their opinion/beliefs, then what is the
average of the possible weights of the sack?

Options:

1. v 87.5 kgs
2. = 87 kgs

3. = 88 kgs

4, = 86.75 Kgs

Question Number : 93 Question Id : 54592732817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TG T SR T Tolel Hd FAT dlel HLAST € 1 X T T
H, dRT &7 gt 80 Tohellamd & 31Tk olfcher 95 Tohellamd @
FH & Y HT TT H, IRT FT ol 85 ThallamH & 3TUF g,
clfehet 100 fohelland & & & 3R FelT SAIRT FT Al & o
ART T gt 89 forallanad & 37k w12 &1 Ife o Tl aruer
T [ AT & ¢ §, df §RT & FHEd 91 &1 3ad

FT 87

Options:

1. v 87.5 Torarm
2. % 87 Tpam
3. = 88 ToRam
4. = 86.75 ferarm

Question Number : 94 Question Id : 54592732818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A number was supposed to be divided by 3/4 but it was
multiplied by 3/4 instead. What is the error percentage?

Options:

1. = 33.75 percentage
2. = 37.50 percentage
3. = 40 percentage

4. v 43.75 percentage

Question Number : 94 Question Id : 54592732818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh T&AT i 3/4 & TSTiora ToRaT SITeiT o1, oifched 59 dolld
39 3/4 @ Fom FRar g g ufaerd Far 87

Options:

1. = 33.75 ufdera




2. %= 37.50 ufdera
3. = 40 widera
4. v 43.75 ufdera

Question Number : 95 Question Id : 54592732819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of a bike 1s increased by 33.33% first, 25% second
and 20% at last. If the old price was Rs. 30000, then what is
the new price of the bike?

Options:

1. = Rs. 54000
2. v Rs. 60000
3. = Rs. 48000
4. = Rs. 72000

Question Number : 95 Question Id : 54592732819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh §Tgeh ohl AT 9go 33.33%, gl o 25% 3R 31 H
20% §¢ STl &1 3R QI hrad 30000 9 o, dF S5
T o1g hIAd T &7

Options:

1. = 54000 392
2. v 60000 T9
3. » 48000 T
4. = 72000 Ty

Question Number : 96 Question Id : 54592732820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A box of fruits was kept in the sun for a couple of days. The
weight of the fruits reduced by 10%. If about 1.5 kgs of the
fruits’ weight evaporated, then what is the weight of the fruit
box now?

Options:

1. = 15 kgs
2. v 13.5 kgs
3. % 16.5 kgs
4. = 12 kgs

Question Number : 96 Question Id : 54592732820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fo el & forv well &1 v fear g F T@r AT AT| Well F
gotel 10% A & =TI IS Bell & Tolel T 9THIT 1.5
freamH aifeud & SA1daT &, dF 3 Hol o (368 ol Jold AT &7

Options:

1. = 15 ferarr
2. v 13.5 Tohrar
3. = 16.5 ferarm
4, « 12 Terar

Question Number : 97 Question Id : 54592732821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bike was bought for Rs. 40000 and a repair charge of Rs.
4000 was paid for. It was sold for Rs. 52800. What is the profit
percent?

Options:

1. = 10 percentage
2. v 20 percentage
3. = 15 percentage



4. = 25 percentage

Question Number : 97 Question Id : 54592732821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk §Tgh 40000 9 & ZHET 915 30K 399C 4000 9= T
FUFAC ook 37T oham M| 58 52800 9 # &=m ardm| e
gicrerd 4T 87

Options:

1. = 10 wfaerd
2. v 20 yfaera
3. = 15 yfaerd
4, = 25 gfcrerd

Question Number : 98 Question Id : 54592732822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper earns 260% profit on cost. If the cost increases
by 20% whereas the selling price remains constant, find the
ratio of the new profit to selling price.

Options:

1.+ 2:3
2. % 13:18
3. = 13:16
4. % 4:9

Question Number : 98 Question Id : 54592732822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk geRTelal T 9T 260% ot hATaT &1 afe amerd # 20%
T g grar & stafe sy Hew Faw @ &, ar oy 7o

3T AT T F 3T AT |

Options:




1. v 2:3
2. % 13:18
3. * 13:16
4. » 4:9

Question Number : 99 Question Id : 54592732823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two bikes were sold at Rs. 40000. One of them was sold at a
profit of 100% on cost and the other one was sold at 2/3rd of
the cost price. To obtain an overall gain of 15%, what is the
new minimum selling price of the bike which was sold at a
loss with no change in the price of the bike sold at profit?

Options:

1. = Rs. 54000
2. = Rs. 60000
3. = Rs. 48000
4. v Rs. 52000

Question Number : 99 Question Id : 54592732823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar S5 40000 39 H ST | 38 T Ueh I ofETd W
100% < oM o S=IT 937 o7 3 gET T &R JeF & 2/3
O3 &7 IR™T ATl 15% hT GHI o1 UTod i o [olT, 5k
T AT vGolcTH [Sohl Hed FAT § S o H S<IT 915 ST5eh T
RAT A 9T FIg aeara FA TR H &= 75 2077

Options:

1. = 54000 &9
2. = 60000 s9&




3. = 48000 ¥
4. v 52000 93

Question Number : 100 Question 1d : 54592732824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A number is 25% smaller while another number is 25%
greater than the same number. What 1s the ratio of the 2
numbers?

Options:

1.+ 35
2. % 95:3
3.% 2:3
4, % 3:2

Question Number : 100 Question Id : 54592732824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh HEAT ThaT HEAT § 25% BIET § Sefer qEl aear 347
TEAT & 25% 3T &1 Sl AT FT U F4T 87

Options:
1. v 3:5
2. % 5:3
3. = 2:3
4, = 3:2
Arithmetic Ability2
Group Number : 6
Group Id: 5459271626
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 5459271626
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271950
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592732825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of squares of two numbers is 1629 while the
numbers are in the ratio of 9:10. Find the difference between
the smaller number and the cube of the numbers’ difference.

Options:

1.+ 0
2. %1
3.5 2
4. %3

Question Number : 101 Question 1d : 54592732825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar &gt o g9t T AT 1629 & Sefes & §&ae 9:10 &
HAUTT H &l B TCAT 3R TEI F A F el & S FT
H AT AT

Options:

1. v O




2. %
3. % 2
4. = 3

Question Number : 102 Question 1d : 54592732826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the proportion equivalenttoc A:B: C:DIfA:B=4:
5B:C=7:10andC:D=12:13?

Options:

1. = 126 : 210 : 300 : 325
2. % 168 :180: 300 : 325
3. = 168 : 210 : 280 : 325
4. v 168 :210:300: 325

Question Number : 102 Question Id : 54592732826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A:B:C:D?milﬂiagqld%'a’rwaﬁ?ﬁ,ﬂﬁA:B:
4:5 B:C=7:103C:D=12:13?

Options:

1. = 126 : 210 : 300 : 325
2. % 168 : 180 : 300 : 325
3. = 168 : 210 : 280 : 325
4. v 168 : 210 : 300 : 325

Question Number : 103 Question Id : 54592732827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



2 bank accounts have the same amount. One offers simple
interest while the other offers compound interest. The
difference between simple and compound interests
compounded annually on the sum of money for 2 years at 6%
pa is Rs. 28.80. What is the amount?

Options:

1. » Rs. 6000
2. » Rs. 6400
3. # Rs. 7200
4. v Rs. 8000

Question Number : 103 Question 1d : 54592732827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 Sh WAl H Teh HTST ToITer &1 Ush TTIRUT AT ol &
STefeh 8T Tehgie sATST 3T g1 6% T 2 a¥ & fov 39

LT T HTSITSTT I0TAT T ST F IR 3R Thglg sIeT
AT T AT 28.80 TUT &1 g ITeT AT §7

Options:

1. = 6000 &9
2. = 6400 ¥9
3. = 7200 ¥4
4. v 8000 ¥9

Question Number : 104 Question Id : 54592732828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An amount invested at simple interest increased by 75% in 5
years. What will be the compound interest of Rs. 10000 after 2
years at the same rate?

Options:

1. v Rs. 3225



2. % Rs. 3375
3. = Rs. 2250
4. = Rs. 3000

Question Number : 104 Question Id : 54592732828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RN sATST WX ferder v o afRr & 5 ast & 75% #r gie &
| 3T & W 2 a¥ &g 10000 $9A T Ashei& sATST FIT BHEIT?

Options:

1. v 3225 39
2. % 3375 U
3. = 2250 TU
4. = 3000 T9

Question Number : 105 Question Id : 54592732829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between compound interest compounded
half-yearly and simple interest on a sum of Rs. 1000000 for 2
years 1S Rs. 9858.56. What is the rate of interest per annum?

Options:

1. v 8 percentage
2. » 9 percentage
3. ®= 11 percentage
4. = 10 percentage

Question Number : 105 Question Id : 54592732829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR 9 T I0TAT Flad 9T 2 ¥ & Tolw 1000000 TU <hr
T o Tohglg sATST 3N FTYROT TTST F S Rl 3R
0858.56 TUY &| UTd Y STl &I AT §7

Options:




1. v 8 ufdera
2. = 9 gfdera
3. = 11 gfaera
4. % 10 wfaerd

Question Number : 106 Question 1d : 54592732830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car covers a distance of 360 kms in 4 hours. By how much
should the speed of the car be increased to cover the same
distance in 3 hours?

Options:

1. = 15 km/h
2. v 30 km/h
3. = 45 km/h
4. = 37.5 km/h

Question Number : 106 Question Id : 54592732830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk $N 4 ud H 360 FraldAeT &1 gfl 7 +dr g1 3 a¢ &
AT ol 1 TF Fla & TIT R T i Tohcell T8 STall
ATET?

Options:

1. = 15 TordAT / =T
2. v 30 TorAT / "ar
3. = 45 TorAT / gar
4, = 37.5 TRaAT / "ar

Question Number : 107 Question 1d : 54592732831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A man starts off on a journey. He travels for 8 hours in total.
The first half of the journey was covered at 16 kim/h and the
second half at 48 km/h. What is the total distance travelled by
him?

Options:

1. = 96 kms

2. v 192 kms
3. = 144 kms
4. % 132 kms

Question Number : 107 Question Id : 54592732831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 3MeAT AT I foishel ST &1 T€ For 8 T T AT FIAT §
| ATAT T Ul TG AT 16 fhAT / 6T 3R G 3mar #Hwer
48 TordAT [ der HT aAfa & aF FRaT 3T AT 38 @RI JF Hr

T el g el &7

Options:

1. = 96 Tor.aT.
2. v 192 ..
3. = 144 Toh.#T.
4. = 132 for.dT.

Question Number : 108 Question Id : 54592732832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train travels 20% faster than a car. Both start from the
same point and meet after 300 kms. On then way, train
stopped for an hour at stations. What is the speed of the train?

Options:

1. = 50 km/h
2. v 60 km/h



3. = 45 km/h
4. = 80 km/h

Question Number : 108 Question Id : 54592732832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush goT Ush FN & 20% dell & AT LT &1 2l Tk & foig
T UE BT § AT 300 forenader & & fAedr g1 Ted # &
Teh 8¢ & TolU Tl YT Tohdl &1 ¢of ohT T AT &7

Options:

1. = 50 ToRaAT / =aT
2. v 60 forAT / Tar
3. = 45 ToRAT / "ar
4. = 80 fordAT / Tar

Question Number : 109 Question Id : 54592732833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B can together finish a task in 16 days. Find the
number of days B would take to do the task alone if A alone
takes 32 days to complete the task.

Options:

1. % 18
2.v 32
3.% 24
4. % 36

Question Number : 109 Question 1d : 54592732833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3R B AT T HIF &1 16 &l # [T T Fhcd &1 A FI
3ehel T& ST G Fla H 32 fdeT @1 § A B 7 37het T3
FRT el H Tohaa faa @i

Options:




1. = 18
2. v 32
3. = 24
4. = 36

Question Number : 110 Question Id : 54592732834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A can do a work in 48 days and B is thrice as efficient as A.
In how many days more will the work be completed if B joins
A on the 3rd day and then they work together?

Options:

1. = 10
2. % 11
3.v115
4 =12

Question Number : 110 Question Id : 54592732834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tl A 48 feal # Uk FIH T TRl & 3T B, A & diet [T
Ferel &1 Al B, A F Al et enfdAer giar & 3 e 3 v
| A A § ar Fhrae 31fd fGat # a5 &7 @ geme?

Options:

1. = 10
2. % 11
3. v 11.5
4. = 12

Question Number : 111 Question Id : 54592732835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A, B & C can do a work in 8 days, while A & B can do the work
in 20 days and B & C can do the work in 12 days while. In
how many days can C do the work alone?

Options:

1. = 12
2.% 125
3.% 13
4.+ 13.33

Question Number : 111 Question Id : 54592732835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B 3R C Uk F1H & 8 gl # T Thd &, &k A 3T B
20 Teal # 9§ TH T Thd & 3T B 3w C 39 &1H & 12

feal & T Tohd &1 C 3he g8 FIT Thder &al # T bl

&7

Options:

1. = 12
2. = 12.5
3. % 13
4. v 13.33

Question Number : 112 Question Id : 54592732836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The curved surface area of a cylinder is 440 cmz. If the radius
i1s 7 cm, then what is the height of the cylinder?

Options:

1. = 5¢cm
2.+ 10 cm
3. %= 15 ¢cm



4, = 20 cm

Question Number : 112 Question Id : 54592732836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk Relst & HAER HAg T &ahal 440 ﬁﬁrz gl IS 3FenT
Bsar 7 |8 &, ar eisT Fr I3 4T 87

Options:

1. = 5 @A
2. v 10 @A
3. = 15 9#AT
4. = 20 I.AY.

Question Number : 113 Question Id : 54592732837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A plot 13 In the shape of a trapezium. The height measures 10

c¢m and the area is 150 cmz. If one of the parallel sides is half
of the other, then find the length of the larger parallel side.

Options:

1. = 5¢cm
2. * 10 cm
3. %15 cm
4, v 20 cm

Question Number : 113 Question Id : 54592732837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Tellc Ueh HHIS Tl & IR A &1 Furg 10 QAT AR
2 , - .
BFhel 150 AT &1 IS FATATAT vall & & Tk gEY T 37T

g, ol 93 AT T& T a5 ATT Hil

Options:




= 5 FAT

= 10 F#Y
x 15 HHAT
v 20 |

Question Number : 114 Question 1d : 54592732838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cubold whose length and breadth measure 256 cms and
1024 cms respectively is made from a cube whose diagonal is
64+/3 cms. Find the height of the cuboid.

Options:

1.+#1cm

ol

2. % 2 Ccm
3. 3cm
4, = 4 cm

Question Number : 114 Question Id : 54592732838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR TATH faadr derg 3T Tiee waen 256 ddAeT 3
1024 EETART &, UF O T T & oG [OhoT 643 TAT &
T hl 3dTs AT hIToIV|

Options:

1. v 1 @AY
2. = 2 GAT
3. = 3 @AT
4. % 4 AT

Question Number : 115 Question Id : 54592732839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The pie chart shows the various Kinds of expenses of a
particular family for a month. The amount spent on
electricity for the month is Rs. 1200. What is the total amount
spent on house rent and food bills?

Expenses of a Particular Family

Options:

1. v Rs. 6480
2. % Rs. 3240
3. = Rs. 4860
4. % Rs. 9720

Question Number : 115 Question Id : 54592732839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



JE UTS ATE Uk Holel o o0 fohdl [T gR@ar & afeiesT
TN & Tl T AT §1 39 Adl & v foeter W = &
grell TN 1200 392 g1 ) & fe AR @& & foel o Fef
fordeir Tfer =T 1 3% &7

o Ay aRaR F @

Options:

1. v 6480 ¥
2. = 3240 ¥
3. = 4860 ¥
4. = 9720 ¥

Question Number : 116 Question Id : 54592732840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The pie chart depicts the allocation of the revenue towards
the expenses of a particular company. If the company’s sales
are Rs. 300000 and 75% of the revenue is allocated towards
expenses, then what is the total amount spent on Wages and
Delivery?

Distribution of the expenses of Company A

Finance, 10

Raw Materiak,
40

Wages, 28

Options:

1. » Rs. 112500
2. » Rs. 45000
3. v Rs. 67500
4. » Rs. 90000

Question Number : 116 Question Id : 54592732840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g IS I¢ # T ROy Fudr & ma % v geem &
3TacsT hl ZRIAT IAT &1 ATG huaT T T&shl 300000 39 &
AT TorET *T 75% TET & Tov smafea fRar =T &, ar
HoledT 3T fAaRoT o =T T 9% Fol TR AT &7

FUAT A F @t &1 fFagor
e, 10

Feal AT, 40

Options:

1. = 112500 392
2. = 45000 T9
3. v 67500 TUd
4. = 90000 T9A

Question Number : 117 Question Id : 54592732841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The table shows the distribution of the marks obtained by
various students in a class. What is the ratio of the number of
students getting >80% in arithmetic and >20% in grammar to
>60% In arithmetic and >40% In grammar?

Marks out of 50
Subject 0 ar Ak 30 and o aneda 10 snd | O and
above above | above
Arithmetic 24 72 192 216 240
Grammar 10 43 168 152 240
— 17 0 180 204 | 240
{Ageregate)

Options:



1. = 2:3
2. % 9:11
3. = 4:5
4, +9:10

Question Number : 117 Question Id : 54592732841 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

g dTfelehT Ueh el & [afdiesd ST g@RT Ut 37! & fdaor
I GRATAT §1 3Thariold H >80% 3 SATRLOT H >20% ofel aTel
BTl T RO H >60% 3T sqT0T H >40% oletdrol

STl T 0 &7

so & aF
foraa 40 Y T 3:;“!“? 20 ¥R FW 1;3:‘; ﬂg'
snfor 24 72 192 216 240
e 10 a8 168 152 240
@m 17 €0 180 204 240
Options:
1. = 2:03
2. = 971

3.

x 4:05

4. v 910

Question Number : 118 Question Id : 54592732842 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25




The bar graph below shows the production of wheat (in
tonnes) by a big farm over the years 2011-2018. In how many
of the given years was the production of wheat less than the
previous year?

400 - 375

350

|
izsu- 225
[-]
£ 200
E“’"' 125
Elm-
(-9

50_

D_

2011 2012 2013 2014 2015 2016 2017 2018

Options:

1. = 2
2.% 3
3.v4
4. %5

Question Number : 118 Question Id : 54592732842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 8T =T K ATH ¥ 2011-2018 A U §2 B H H’E
(€ H) T Icurest giar &1 @ af &1 Jefer A fov arw
ﬁw_dﬁ'aﬁﬁﬁéqwl 3cUTceT hA 2T?

400 - 375

350 - 325 sy
300 -
E 250 - 225 i
200 -
_F 150 - ll“-
¥ 100 -
5@ -
u A

2011 20012 2013 101-1 015 2016 2017 2018

Options:



1. = 2
2. % 3
3. v 4
4. » 5

Question Number : 119 Question Id : 54592732843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The histogram shows the runs scored by eleven cricket
players named P1, P2, P3, P4, ... P11 in their respective careers
which lasted for 9 years. Which player along with P3
combined can match the tally of the highest run scorer?

Runs Scored

Pl P2 P3 P4 P5 P6 P7 P& P9 P10 P11
Cricket Player

Options:

1. » P2
2. % P4
3. = Po
4. v P8

Question Number : 119 Question Id : 54592732843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g fBEaamd 39a F@efad R & P1, P2, P3, P4, ... P11
ATHG IYNG Tohehe TEGTSAT @RT ST T Tl I TEETaT &
ST 9 gl dF Tl P3 F ATy wiet &7 Bemdr @gaa &7 @

TAITeh Lol Sellal dTel oh AT Hol TT bl &7

FP1L P2 P33 P4 PS5 P& PFT P8 P9 Pl0D Pll

e e

Options:

1. = P2
2. = P4
3. = P6
4. v P8

Question Number : 120 Question Id : 54592732844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar chart shows the money annually invested in expenses
(in Rs lakhs) from 2013-2018. If the average revenue during
the same period is Rs. 480 lakhs, then what is the profit
percentage expected for 2019 if the profit is expected to grow
by 20% over the average profit of the last 6 years?

In I I I |

2013 2014 2015 2016 2017 2018

«BEEEESRE

Money Invested in Expenses

Options:

1. = 20 percentage
2. % 22 percentage
3. = 30 percentage
4. v 24 percentage

Question Number : 120 Question Id : 54592732844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Jg I A 2013-2018 & ==! (@ s #H) # foger frv v
ool gRATAT &1 IS SET 3T & e 3ad Toeg 480
A 9T &, o 2019 & fovw 3mféra e widera a7 &,
I o & TS 6 g & 39T oy W 20% Fear T 3FAE
e

00 -

5, 700

600 -
‘gsm

400 -
300 - 250
200 4 IED
100 -
o -

2013 2014 2015 2016 2017 2018

e e

Options:

1. = 20 wfaerd
2. = 22 gfcrerd
3. = 30 yfaera
4, v 24 gfaerq
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Section Marks: 20
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Sub-Section I1d: 5459271951
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592732845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) After that Prince Harry / (B) did not saw his / (C) father for
a week./ (D) No error

Options:

1.« A
2.v DB
3.5 C
4, %]

Question Number : 121 Question Id : 54592732845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) After that Prince Harry / (B) did not saw his / (C)

father for a week./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 122 Question Id : 54592732846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) She was quite / (B) amusing when / (C) she heard about
him./ (D) No error

Options:

1.« A
2.v DB
3.5 C
4, %]



Question Number : 122 Question Id : 54592732846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) She was quite / (B) amusing when / (C) she heard
about him./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 123 Question Id : 54592732847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Sanjay has / (B) been driving / (C) for 6 hours./ (D) No error

Options:

1. = A
2. % B
3.5 C
4.vD



Question Number : 123 Question Id : 54592732847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Sanjay has / (B) been driving / (C) for 6 hours./ (D) No

error

Options:

1. = A
2. = B
3. » C
4. v D

Question Number : 124 Question Id : 54592732848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Seema has been / (B) worked on this projec / (C) since
May./ (D) No error

Options:

1. = A
2.v B
3. = C



4. %D

Question Number : 124 Question Id : 54592732848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Seema has been / (B) worked on this projec / (C)
since May./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 125 Question Id : 54592732849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Besides his children, / (B) his nephews and nieces / (C)
were also present./ (D) No error

Options:

1. = A
2.% B



3. = C
4. v D

Question Number : 125 Question Id : 54592732849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) Besides his children, /{ (B) his nephews and nieces /

(C) were also present./ (D) No error

Options:

1. = A
2. » B
3. = C
4. v D

Question Number : 126 Question 1d : 54592732850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.
(Since) last year, I haven't seen Mira even once.

Options:

1. = From

2. % For

3. = With

4. v No correction

Question Number : 126 Question Id : 54592732850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options
given.

(Since) last year, | haven't seen Mira even once.

Options:

1. = From

2. = For

3. = With

4. v No correction

Question Number : 127 Question Id : 54592732851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.
Hardly had Garima reached the station (than) the train came.

Options:

1. = while

2. v when

3. = then

4. » No correction

Question Number : 127 Question Id : 54592732851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options
given.

Hardly had Garima reached the station (than) the train came.

Options:

1. = while
2. v when

3. % then



4. = No correction

Question Number : 128 Question Id : 54592732852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.
Isha goes (at) school by bus.

Options:

1.v 10
2. % 1n
3. % 0n
4. = No correction

Question Number : 128 Question 1d : 54592732852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options
given.

Isha goes (at) school by bus.

Options:

1. v to
2. % In
3. % on
4. = No correction

Question Number : 129 Question Id : 54592732853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Replace the words in the bracket from the set of options given.
Do you usually (spoke to him) like that?

Options:

1. = speak on him
2. v speak to him



3. » spoke with him
4. = No correction

Question Number : 129 Question Id : 54592732853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options
given.

Do you usually (spoke to him) like that?

Options:

1. = speak on him
2. v speak to him
3. # spoke with him
4. = No correction

Question Number : 130 Question Id : 54592732854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.
The child jumped with delight (on seeing) his mother.

Options:

1. = to see

2. % ONn Ssaw

3. = for seeing

4. v No correction

Question Number : 130 Question Id : 54592732854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options
given.

The child jumped with delight (on seeing) his mother.

Options:



1. = to see
2. % Oon saw
3. = for seeing

4. v No correction

Question Number : 131 Question Id : 54592732855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.
Agriculture in India kept pace industrial progress.

Options:

1. v with
2. % 0On
3. = of
4. = for

Question Number : 131 Question Id : 54592732855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Agriculture In India kept pace industrial progress.

Options:

1. v with
2. % on
3. = of
4, = for

Question Number : 132 Question 1d : 54592732856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.
Jay hasn't seenme _ ages.

Options:



1. = with
2. v for
3. % at
4, = 10

Question Number : 132 Question Id : 54592732856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Jay hasn't seen me ages.

Options:

1. = with
2. v for
3. # at
4. = to

Question Number : 133 Question Id : 54592732857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Sakshi has a tendency to pick up a quarrel
things.

Options:

1. = with
2. v over
3. = for
4. = in

Question Number : 133 Question Id : 54592732857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

petty



Fill in the blanks with appropriate word.

Sakshi has a tendency to pick up a quarrel
petty things.

Options:

1. = with

2. v over
3. = for
4. % |n

Question Number : 134 Question Id : 54592732858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.
The train to Kolkata from Sonarpur Station at 8.00
a.m.

Options:

1. v starts

2. » will started

3. = was started

4. = had been starting

Question Number : 134 Question Id : 54592732858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The train to Kolkata from Sonarpur Station at
8.00 a.m.

Options:

1. v starts

2. = will started



3. % was started

4. = had been starting

Question Number : 135 Question Id : 54592732859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.
Seema lives 56, Shalimar Road.

Options:

1. % in
2. v at
3. % on
4. = for

Question Number : 135 Question Id : 54592732859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Seema lives 56, Shalimar Road.

Options:

1. = In
2. v at
3. ® 0On

4. = for

Question Number : 136 Question Id : 54592732860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.
Kolkata is infamous its jute mills.

Options:

1. » with
2. v for



3. = at
4. = In

Question Number : 136 Question Id : 54592732860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Kolkata iIs infamous its jute mills.

Options:

1. = with
2. v for
3. » at
4. % In

Question Number : 137 Question Id : 54592732861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.
She was during the interview.

Options:

1. = surfeit
2. » slacked
3. v staid

4. = suffered

Question Number : 137 Question 1d : 54592732861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

She was during the interview.

Options:

1. = surfeit

2. = slacked



3. v staid

4. = suffered

Question Number : 138 Question Id : 54592732862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.
the 1870s until his death, Mahatama Gandhi lived in

India.

Options:

1. v From
2. = Since
3.« For

4. » Within

Question Number : 138 Question 1d : 54592732862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.
the 1870s until his death, Mahatama Gandhi

lived In India.

Options:

1. v From
2. # Since
3. # For

4. = Within

Question Number : 139 Question Id : 54592732863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

The typical institution of today

P : problem for which

(Q : are totally inadequate

R : has an organisational

S : traditional concepts and theories

Options:

1. = SQRP
2. = RQSP
3. = PRQS
4, v RPSQ

Question Number : 139 Question Id : 54592732863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

The typical Institution of today
P : problem for which

Q : are totally inadequate

R : has an organisational

S traditional concepts and theories

Options:

1. = SQRP



2. = RQSP
3. « PRQS
4. v RPSQ

Question Number : 140 Question 1d : 54592732864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

Since the end of World-War I1

P : medical people in uniform

Q) : the American military services
R : their inability to keep trained
S : have been plauged by

Options:

1. = RPSQ
2. = RQSP
3. v QSRP
4. » PSQR

Question Number : 140 Question 1d : 54592732864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

Since the end of World-War |l

P : medical people In uniform

Q : the American military services
R : their inability to keep trained
S : have been plauged by

Options:
1. = RPSQ
2. = RQSP
3. v QSRP
4. » PSQR
General English2
Group Number : 8
Group Id: 5459271628
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?2

Section 1d : 5459271628



Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271952
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 54592732865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consist of a set of labelled sentences. Out
of four options given, select the most logical order of the
sentences which form a paragraph.

Meetings are by definition a concession to deficient
organisations.

P : One cannot do both at the same time.

() : For one either meets or works.

R :In an ideally designed structure, there would be no
meetings.

S : Everbody would know what he needs to know to do his job.
Everybody would have the resources available to him to do
his job.

Options:

1. = RQSP

2. = QSRP

3. = PSRQ

4. v QPRS

Question Number : 141 Question Id : 54592732865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question below consist of a set of labelled sentences.
Out of four options given, select the most logical order of

the sentences which form a paragraph.

Meetings are by definition a concession to deficient
organisations.

P : One cannot do both at the same time.

Q : For one either meets or works.

R : In an ideally designed structure, there would be no
meetings.

S : Everbody would know what he needs to know to do his
Job.

Everybody would have the resources available to him to do
his job.

Options:

1. » RQSP
2. = QSRP
3. = PSRQ
4. v QPRS

Question Number : 142 Question 1d : 54592732866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Acrimony

Options:



1. » Moderate
2. v Bitterness
3. = Forgive
4. = Rival

Question Number : 142 Question Id : 54592732866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Acrimony

Options:

1. = Moderate
2. v Bitterness
3. = Forgive
4. = Rival

Question Number : 143 Question 1d : 54592732867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Hapless

Options:

1. = Lucky

2. v Unfortunate
3. » Prevent

4. = Danger

Question Number : 143 Question 1d : 54592732867 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Hapless

Options:

1. = Lucky

2. v Unfortunate
3. = Prevent

4, = Danger

Question Number : 144 Question 1d : 54592732868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Knave

Options:

1. = Defend

2. = Foolish
3. = Paragon
4. v Dishonest

Question Number : 144 Question 1d : 54592732868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Knave



Options:

1. = Defend
2. = Foolish
3. = Paragon

4. v Dishonest

Question Number : 145 Question Id : 54592732869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 1s
OPPOSITE in meaning to the given word.

Peevish

Options:

1. = Irritable
2. = Sullen
3. = Hostile
4. » Affable

Question Number : 145 Question Id : 54592732869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Peevish

Options:

1. = Irritable

2. = Sullen
3. = Hostile



4. v Affable

Question Number : 146 Question Id : 54592732870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 18
OPPOSITE in meaning to the given word.

Vagrant

Options:

1. = Sieze

2. » Genuine
3. v Steady

4. » Wanderer

Question Number : 146 Question Id : 54592732870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Vagrant

Options:

1. = Sleze
2. = (Genuine
3. v Steady
4. = Wanderer

Question Number : 147 Question Id : 54592732871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:



1. v Ephemeral
2. = Iphemeral
3. = Ephemiral
4. = Iphemiral

Question Number : 147 Question Id : 54592732871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. v Ephemeral
2. % |phemeral
3. * Ephemiral
4. % |phemiral

Question Number : 148 Question Id : 54592732872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Phlematic

2. v Phlegmatic
3. » Phlagmatic
4. = Phlagmetic

Question Number : 148 Question 1d : 54592732872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:



1. = Phlematic
2. v Phlegmatic
3. = Phlagmatic
4. = Phlagmetic

Question Number : 149 Question Id : 54592732873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Perdilection
2. = Predilaction
3. v Predilection
4. = Perdilaction

Question Number : 149 Question 1d : 54592732873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Perdilection
2. = Predilaction
3. ¢ Predilection

4. = Perdilaction

Question Number : 150 Question 1d : 54592732874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Hit the sack



Options:

1. v Go to sleep

2. = Don't give up
3. » Slow down
4. = Good luck

Question Number : 150 Question 1d : 54592732874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Hit the sack

Options:

1. v Go to sleep
2. = Don't give up
3. #» Slow down
4. = Good luck

Question Number : 151 Question Id : 54592732875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

On the bhall

Options:

1. = To trust someone blindly

2. *» To get out of control

3. v To be quick to understand and react to things.
4. = To calm down

Question Number : 151 Question Id : 54592732875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the following idiom mean?

On the ball

Options:

1. = To trust someone blindly
2. » To get out of control
3. v To be quick to understand and react to things.

4. = To calm down

Question Number : 152 Question Id : 54592732876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Take a rain check

Options:

1. = To spoil something

2. v To postpone a plan

3. = To save money for later
4. = To carry an umbrella

Question Number : 152 Question Id : 54592732876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Take a rain check

Options:

1. = To spoll something

2. v To postpone a plan



3. » To save money for later

4. = To carry an umbrella

Question Number : 153 Question Id : 54592732877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words /
sentences.

Study of birds

Options:

1. ¥ Ornithology
2. = Anthropology
3. = Psephology
4. = Graphology

Question Number : 153 Question Id : 54592732877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the words /

sentences.

Study of birds

Options:

1. v Ornithology
2. % Anthropology
3. * Psephology
4. = (Graphology



Question Number : 154 Question Id : 54592732878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words /
senternces.

Study of languages

Options:

1. = Ornithology
2. = Theology
3. v Philology
4. = Psephology

Question Number : 154 Question Id : 54592732878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the words /

sentences.

Study of languages

Options:

1. = Ornithology
2. * Theology
3. v Philology
4. = Psephology

Question Number : 155 Question Id : 54592732879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which is the best substitute of the words /
sentences.

The killing of one’s brother

Options:

1. » Homicide
2. v Fratricide
3. = Sororicide
4. = Regicide

Question Number : 155 Question 1d : 54592732879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the words /

sentences.

The killing of one's brother

Options:

1. = Homicide
2. v Fratricide

3. ® Sororicide

4. = Regicide
Sub-Section Number: 2
Sub-Section I d: 5459271953
Question Shuffling Allowed : Yes

Question Id : 54592732880 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension
Read the passage below and answer the questions that follow.

As we came down to breakfast that morning, with very shiny
faces and spandy clean aprons, we found father alone in the
dining-room.

"Happy New Year, papal Where 1s mother?” we cried.

"A little boy came begging and said they were starving at
home, so your mother went to see and-—-ah, here she is.”

As papa spoke, In came mamma, looking very cold, rather
sad, and very much excited.

"Children, don't begin till you hear what I have to say,” she
cried; and we sat staring at her, with the breakfast untouched
before us.

"Not far away from here, lies a poor woman with a little
new-born baby. Six children are huddled into one bed to keep
from freezing, for they have no fire. There is nothing to eat
over there; and the oldest boy came here to tell me they were
starving this bitter cold day. My little girls, will you give them
your breakfast, as a New Year’s gift?”

Sub questions

Question Number : 156 Question Id : 54592732881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where did the children find their father when they came
down?

Options:

1. » Kitchen
2. » Bedroom
3. # Library



4. v Dining-room

Question Number : 157 Question Id : 54592732882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who came begging for the food?

Options:

1. » An old man
2. = A little girl
3. v A little boy
4. » Few children

Question Number : 158 Question Id : 54592732883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why was the mother sad rather than being excited?

Options:

1. = She was sad as she had no money left with her.
2. * She was sad because her children didn't like the breakfast.
3. v She was sad for the poor hungry family.

4. = She was sad because she couldn’t buy clothes for New
Year.

Question Number : 159 Question Id : 54592732884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What did the mother want her children to do?

Options:

1. = To go out and celebrate New Year

2. v To sacrifice their breakfast for the poor family
3. » To play with the little new-born baby

4. = To help her in cooking

Question Number : 160 Question Id : 54592732885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is the meaning of the word ‘huddle’ as used in the
passage?

Options:

1. v Cluster
2. = Barrier
3. » Sleep

4. = Queue

Question Id : 54592732880 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage below and answer the questions that

follow.

As we came down to breakfast that morning, with very
shiny faces and spandy clean aprons, we found father alone
In the dining-room.

"Happy New Year, papal Where i1s mother?" we cried.

"A little boy came begging and said they were starving at
home, so your mother went to see and--ah, here she is."
As papa spoke, In came mamma, looking very cold, rather
sad, and very much excited.

"Children, don't begin till you hear what | have to say," she
cried; and we sat staring at her, with the breakfast
untouched before us.

"Not far away from here, lies a poor woman with a little
new-born baby. Six children are huddled into one bed to
keep from freezing, for they have no fire. There Is nothing
to eat over there; and the oldest boy came here to tell me
they were starving this bitter cold day. My little girls, will

you give them your breakfast, as a New Years gift?"

Sub questions

Question Number : 156 Question 1d : 54592732881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where did the children find their father when they came

down?

Options:



1. = Kitchen

2. = Bedroom

3. = Library

4. v Dining-room

Question Number : 157 Question Id : 54592732882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who came begging for the food?

Options:

1. = An old man
2. = A little girl
3. v A little boy

4. = Few children

Question Number : 158 Question 1d : 54592732883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why was the mother sad rather than being excited?

Options:

1. = She was sad as she had no money left with her.
2. « She was sad because her children didn't like the
breakfast.

3. v She was sad for the poor hungry family.

4, = She was sad because she couldn't buy clothes for

New Year.

Question Number : 159 Question Id : 54592732884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What did the mother want her children to do?

Options:



1. = To go out and celebrate New Year

2. v To sacrifice their breakfast for the poor family
3. = To play with the little new-born baby
4,

* To help her in cooking

Question Number : 160 Question Id : 54592732885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What 1s the meaning of the word ‘huddle’ as used In the

passage”
Options:

1. v Cluster
2. = Barnier
3. = Sleep

4. = Queue

General Hindil

Group Number : 9
Group Id: 5459271629
Group Maximum Duration : 0
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Edit Attended Group? : No
Break time: 0
Group Marks: 20
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Section Id : 5459271629
Section Number : 1
Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271954
Question Shuffling Allowed : Yes

Question Number : 161 Question 1d : 54592732886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl U7 #, IR fddedl § ¥, 39 [ddhey &l o2+ B ST 1dU 1Y 981
ITer faede, &t I8 o Tg1 fadeT gl

o + sregaq

Options:

1. v FoEmeaa—T
2. % Teremeds

3. = gemedr

4. » TagTaregaT

Question Number : 161 Question Id : 54592732886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFITa T wed #, IR [hedl A &, 39 QFed FT IIT
St e o wEér | fawag dr |fSr &1 @ar [aseq arl

faear + e

Options:

1. v TacaTeTTeT
2. = TaeaTeeT
3. = dregredn

4. = TASIT3TETTS

Question Number : 162 Question Id : 54592732887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FEeiEd Uy #, I [ddeul # ¥, 39 [ddeT ST T3 & Sl U979 &+
SIEC T Gg! [AdeT gl

Options:

1. v 3T=<ST
2. % STce
3. = Afd®

4. » 3TEded

Question Number : 162 Question Id : 54592732887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfaf@aa uead &7, a) RAeedl A 8, 39 AFeT &1 T =
Sl 399 & el e, T Hol [dehed Bl

Options:

1. v ATa<aT
2. = ARIca
3. = dfde
4, = 3Tecdca

Question Number : 163 Question Id : 54592732888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYeired U #, IR Td@etl § ¥, 39 [dded &7 Id= & 11 1T T e
BT &I qcad €7 ATeAT [oded gl

SE)

Options:

1. » Taiq
2. % T8

3. + TR
4. % IUq

Question Number : 163 Question Id : 54592732888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
St f&U 910 ereg T HEl dcdH &9 dTell [dhed &

| : é

Options:

1. = Adfd
2. % o&7d

3. v dAdeurd
4, % SATTUA

Question Number : 164 Question Id : 54592732889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Faleled U §, I= [Adeul § 9, 39 [dded &7 Id &2 Sl Tdesil U6
T Tg! [AdeT Tal gl

Options:

1. » AW
2. % Med
3. v @Ier
4, » garerrd

Question Number : 164 Question Id : 54592732889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
S [a2elr ereg =1 Tar dAehed AGT &l

Options:

1. = SMEIR
2. = daed
3. v TRIET
4. » garelld



Question Number : 165 Question 1d : 54592732890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieired U #, IR Tddetl § ¥, 39 et &r Id= & ST dQu0 & 9
ATelT et @'I

qEAPRIed H AEET [&h 3l

Options:

1. v 31=TET

JEATATI D

2. % 3[TATEd URATIETISh
3. = UATA®

4. * GEATITTD

Question Number : 165 Question Id : 54592732890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
S fadwur & A grem BReT &l

qEIRTeT H 3HET T+ ¢

Options:
1. v ATaTgaa

HEITdT<h
2. = 3Taread YNAUES

3. % J[OTdI<I<h
o

4. « JEITATIF

Question Number : 166 Question Id : 54592732891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



YTl ad U ¥, IR [Od@eUl § €, 39 [9dhey & Iad= & I 1¢J MY e
& TITAATRIT STeS, T Teded Tal gl

ies

Options:

1. = Sie[eh
2. % Tl
3. v fay
4. » IR

Question Number : 166 Question Id : 54592732891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
S few v ereg & UATIQTRY e T [Aheq 8T o

gy

Options:

1.« S
2.+ s
3. v fay
4.« form

Question Number : 167 Question Id : 54592732892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

My v &, IR [Adetl § ¥, 39 [dded & o= & S 16U T SIed,
& Terelier Sree, T Tg1 TadeT gl
T+

Options:

1. # TolT g
2. ol




3. % Gore
4, » GoAvd

Question Number : 167 Question 1d : 54592732892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST feU a0 ofec & TellA eeg T Jor [Aeed &
IHeld

Options:

1. = Yolled

2. v oIFT

3. = HoleT

4. % FaIsT
ot

Question Number : 168 Question Id : 54592732893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TgieiRad wsy #, R Thedl § &, 39 FgI fddey @1 ad+ o 91 du 1y
&g P 37ef T LT oo g

TR - 3T

Options:

1. * 37T 31X Pel

2. * e 3R el
3. * FoIAT 3N THAT
4, v &I AR AR

Question Number : 168 Question Id : 54592732893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
T S QU a0 ereg-gad & A FT T TheT &l

MtATH - A

Options:

1. = 3757 3R el

2. » g 3R fewiz
3. = Tolell 3T Behell
4.%1@?&'3?11’3{?11311'

Question Number : 169 Question Id : 54592732894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYleired U 7, IR Tddetl § ¥, 39 [AdeT &r o= & S [dQ 77
TS & ToIT U SI6c, T G e 3l

3meer St T arerter ae &y gl

Options:

1. v eI
2. % JAGITdT
3. = AT8Hd
4. = JTIGT

Question Number : 169 Question Id : 54592732894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST T&T 310 GreraTer & Tolv Ueh eeg &1 @l [dhed &l

e St fAfead safer g oy &l

Options:



1. v 37egTael
2. = AT
3. = 3T9hd

c

4, = HTIHAT

o,

Question Number : 170 Question Id : 54592732895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M U §, IR [a@eul § 9, 39 TgI [admey &l ad= HL ST 146 T
& To1q 3SR farwe gl

BT T UI&T B gGT &l AT i

Options:

1. » 3rereft
2. % 3TTcrer
3. v 3raTer
4. % ey

Question Number : 170 Question 1d : 54592732895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafel@a wesT &, I) @reul & &, 39 T2 TFheq FT T
F ST NoFd Tad & fow 3RT [SFeq &

STAr o ILrET T S&Tal hT AT FT

Options:

1. = 3T

2.
3. v 33t
4



Question Number : 171 Question Id : 54592732896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTead uy #, IR aeul § T, 39 [Adey & ad= & S 1T M7 9
& GHTTET Srec; a1 TddeT T8 3l

AL

Options:

1. = &d
2. % TesT
3. v Thaw
4, = I

Question Number : 171 Question Id : 54592732896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST S0 90 orsg o HATATT oreg T TdheT =TaT &1

ald
Options:

1. = &d
2. = feaer
3. v fopapT
4. TG

Question Number : 172 Question Id : 54592732897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MR ed Uy ¥, IR TAdeul #§ ¥, 39 ddhed &7 T & AT 14h €A &
ToIq SUgh e, &1 Fal ieiho 3l

R RTFITEEFE AN

Options:




1. » O
2. % qTH
3.« qId
4, v g+

Question Number : 172 Question Id : 54592732897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
S e FTel & Tolv SugercT s 7 @ET fashed B

§Sl =T folar e & T T g gl &

Options:

1. = o
2. % SH
3. * HaTfer
4. v gIfeT

Question Number : 173 Question Id : 54592732898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTorad 7 #, IR fordel § €, 39 oo @7 od= oY 511 [, e, T
Tg! fadmeT 3l

Options:

1. = AT
2. v QiTfaar
3. = GHATadr
4. » TOTHT

Question Number : 173 Question Id : 54592732898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST e[ <Tse 1 Hel fawed &

Options:

1. » TAATITT
2. v Sif&gar
3. % HIATAT
4, = Affcar

Question Number : 174 Question Id : 54592732899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad U ¥, IR [Adeul § 9, 39 fardhey & o2 B ST Y A, P
Gﬁiafﬁﬁﬂ %I

Options:

1. * SIUTTER
2. % TSER
3. * IR
4, v MG

Question Number : 174 Question Id : 54592732899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST e[ <Tse 1 Tal fawed &

Options:

1. » SioifaR
2. = Torarer
3. * FoRaeT
4. v SOMER

Question Number : 175 Question Id : 54592732900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Fgieiad Uy #, IR Adetl § 9, 39 [adhey & T B ST g A P
Gﬁ'iafﬁvﬂ %I

Options:

1. v WG
2. % T
3. * TogaT
4. * TR

Question Number : 175 Question Id : 54592732900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTfaad wed #, IR [hedl A &, 39 QFeT &7 IIT
ST e e T T fdhed &

1. v e
2. « W
3.« W
4« T

Question Number : 176 Question Id : 54592732901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR Adeul § 4, 39 fadhet & o2 B ST IT Yool

STET, dTelT Yg! feideT 3l

Options:

1. = TSI
2. v &F

3. = geait
4. % VIO

Question Number : 176 Question Id : 54592732901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fFITaad wed H, I” @hedl A &, 39 [AFed FT IIT
ST I g‘f&“‘eidl eTec dTell Tal Tdehed &

Options:

1. = 373l
2. v 87

3. % Heall
4. = O

Question Number : 177 Question Id : 54592732902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyleirad Uy §, IR Taoeul § ¥, 39 e &7 Id= & S 1¢U T e
BT T STl eATelT e, gl

PR

Options:

Question Number : 177 Question Id : 54592732902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
Sif [T arv efeg T Hal THTToldT dToll e5e &l

SIER

Options:

1. = &TcTall
2. v &ATO



4, = &TATaT

Question Number : 178 Question 1d : 54592732903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeiad U ¥, IR [Odhetl § ¥, 39 [ddhed & ad= & I 1¢J T e
o Telq e e, dl Jod 38T fddey gl

I8

Options:

1. » g0
2. v §gY
3. = ggd
4, = ggd

Question Number : 178 Question Id : 54592732903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST faw a7 oreg & fow CREECINECEY ey 3TaT [ahed B

R

Options:

1. =

2. ¢
3. %
4.

®

Question Number : 179 Question Id : 54592732904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad uy #, IR aeul § ¥, 39 [Odey & ad= & St disa § 12U
Y e, & IR IAH T3 qTereh ATH DT eI 0T [ddhe? gl



Options:

1. v ( §7) 34T o1 # % 3l
2. % ( QW) gl AT G BI?

3. = { 3T ) T hd STIN?

4, = (TG ) W PIA gl

Question Number : 179 Question Id : 54592732904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST hisaceh H TEU T eeg & AR 3cdH J&Y araeh T oTH
HT O ITHT TheT &

Options:

1. v ( 7 ) 37307 17 # =a&g §l

2.%(@3H)¢5To1|1‘€6“|‘?
3. % ( 3T ) 8T FF IATCN?
4, » ( g ) AT F1H T

Question Number : 180 Question 1d : 54592732905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy 7, o Aeeu § 9, 39 Raew & g9 o s Rw 7y areg
& PleT BT Yg! [IheT Bl

# 3t iTer & 31T &

Options:

1. v 3MEg Yddrel
2. % GICTH Weehlel
3. % 37YUl HYdhrel
4, * zdad A<
Hdhlel

Question Number : 180 Question Id : 54592732905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




T wesT #, I) Thedl A &, 39 TFeT FT ITT R
ST oW 1w greg & hTel T Gar [ahed T

if&ﬁﬁimh'ﬁﬂﬁﬁﬂii

1. v IHod #cTehTel

2. = ¥ iEEl d Hdhlel
[ %
3. % 3YUT ARl
o, o,
4, = Bdad g
) D" D
l:\
General Hindi2
Group Number : 10
Group Id: 5459271630
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Hindi2
Section Id : 5459271630
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20

Sub-Section Number: 1



Sub-Section Id: 5459271955
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592732906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMYeirad U #, IR Tadetl § ¥, 39 [t &7 Id= & 11 10 T gy

& ToIT g & |e DT g 30T [ddel gl
TITaT 3 Td 31T T YT TaTeE o gl

Options:

1. v GETTY

Question Number : 181 Question Id : 54592732906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
St faw 910 arery & folv gica & g &7 Jod 3eaT dshed &

OTAT & ToF 31T T HisTeT ETIieSe SaT &l

Options:

1. v G
2. » HE
3. % Hehdrd
4. = Toege

Question Number : 182 Question Id : 54592732907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fafalad vy # ar Raeul § ¥, 39 wew o1 ag= & S oy My areg
& TolT T8 & 9T &7 aIF 3T [ddeT gl

6Tt Teha=T 3MTBT TeTAT =TT g1 3l

Options:

1. v raTIEIgd®
2. % Mcgdrenad
3. « WIdendd
4, TP

Question Number : 182 Question Id : 54592732907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
S QT 310 g & fOw U&7 & AT T Ted 35T Ahed &

Sl TohdaT 3TaT deell &7 J&T &l

Options:

1. v GTdIEeTeh

Ny
% TelcadTeAlcTeh

2.
3. * YETAGATdh
4.

x THEATAhR

L

Question Number : 183 Question Id : 54592732908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y Tadeul # ¥ MEATER oed UiedT @l fddhed ]l

# @ €T ( dHaRd )

Options:

1. * g3 GHAT Tg1 STl

2. % FET H9 QWTATI



3. v TS QT G 14Tl
4, » H GRIT @M

Question Number : 183 Question 1d : 54592732908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
[t [

faFT AFeal § & ﬁlﬁ?llgﬂu =g INade T [Ghed |

He TTT TET ( AT )

Options:

1.« HSE T afgl S|

2. % ol Hal JTATI
3. v IFH T TR AT
4. = Ha @ET FTaT

Question Number : 184 Question Id : 54592732909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTad U ¥, IR Tddhedl § 9, 39 Tdthed B T B ST I ATFT A

PT [AdeT Bl

I YITAT gT gl

Options:

1. « Ty a1
2. % GYeh ATH

Question Number : 184 Question Id : 54592732909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
ST HATr arFg $¢ T Tdehed &l

aT9eh HT9TAT 8T &l

Options:

1. « THS g

2. % H-gcrd CIERS

3. » [ovearass arey

4. v Glel AT

Question Number : 185 Question Id : 54592732910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTeied vy #, IR fadetl #§ ¥, 39 [Aded BT A9 O ST Gg! dTdd 9T,

PT [AdeT Bl

H ST & T g UG H TR giet gl

Options:

1. # IIeT dATFY
2. % GYh oATH
3. * MUET® arad
4. v Y a9 g

Question Number : 185 Question Id : 54592732910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
Sl Ha&l gTFd Hg & [dhed &l

ﬁmﬁ%ga—% Ugal H UMMl &lal &

Options:



# el dlay

* FYF T
IGARFICERCIER?
v @ g

ol
#®

Question Number : 186 Question Id : 54592732911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 §, IR [Oweul § 9, 39 [ddey & o &2 ST 951 arad 9,
&7 e il

ATAT 7 ag O GUST AT I =TT A AT

Options:

1. #= Qe ATFT
2. % Ggh a1ag
3. = MUEET® arad
4, v Y a1 g

Question Number : 186 Question 1d : 54592732911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST Tar arFg A T Tdehed &

MAT o g8 9T FIET S 39 T T AT

Options:

1. = Il dTFY

2. » FYFT A
3. * TASYarR gy
4. v T8 gy




Question Number : 187 Question Id : 54592732912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTora 757 7, IR Trwedt § 9, 39 rmed $r aas ®e St G ared o
qq 39T [adeT 3l

Options:

1. v 399 T T 19 ol
2. * IG GAIY BT GIF ol
3. % 3G 919 ol a9
4. * 3G Gy for I19 &7

Question Number : 187 Question Id : 54592732912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST g a1 T Ted 3eaT fdhed &

Options:

1. v 38a Y I G ol
2. = 3ga HAIY FHT G1F ol
3. = 39« G oI AT T
4. » 3o GAY Tor G 1

Question Number : 188 Question Id : 54592732913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTeTEd 7 , o TAdeul § , 39 [Awey & o 3¢ ST oW =g
gh a1 Dl Fgi eiehed gl

Options:

1. » gl & TEI et Gdhar g, g7 ST aTgl al dot AT
2. % <Igl, & TG IoT Gpar gl, g7 SATHT aTgl ar got A3
3. « 'TE1 ¥ IgT ol gahdTl T, 0 ST ATgT df <ol SIT3i]
4. v TE, ¥ 5! oot Geparl gT, W AT aTg! ar del ST

Question Number : 188 Question Id : 54592732913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




T wesT #, I) Thedl A &, 39 TFeT FT ITT R
ST fare Riger &/ a9 F1 @&T f9hed gl

Options:

1.« @gr # &l <ol Fehcll &I, IA STl =gl ol el SI3f|
2. oigl, # &l Tel KT &1, TA STl @I T ar el 3|
3. » 'Sgl # &l Tel FehalTl "1, TH ST TGN T el 3
4. v FEl, # T T ATl BT, TH ST AT AT el ST

Question Number : 189 Question Id : 54592732914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YTl Uy #, IR eyl § ¥, 39 ey & a7 B ST a0 g
ek AT T WGl e gl

Options:

1. v /T = DgT AT, ” 7 I et I & 1™
2. % W = DHgT AT "qH T TWeADT AT 7 AT
3. * AT 7 DgT 9T - T G HeADL 9T # TgT1”
4. = AT = PgT AT, "qH G WoADE I § AT

Question Number : 189 Question 1d : 54592732914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST oA Rger I/ ared #1 @8T fGhed gl

Options:

1. v AT & gl 4T, " A T AR 1T A gar|”

2. % HI o gl AT "JH TS THolshy Ty #H IgaT|"
3. = AT o FgT AT - A TF [AeIFT a1y A TFa1l"
4. = AT o FgT AT, "JA T AeH a1y & &

Question Number : 190 Question Id : 54592732915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Maleldd 7 ¥, IR Tadetl # ¥, 39 fddheT & a9 & 11 o g
gk ATy T Hg! Terehed gl

Options:

1. v 3TegTUH ( FeleelTd gU ) "THehet SITaIT BgT 41"
2. * 3TEYTUH ( FeleelTd gU ) MeboT SITSIT DET I
3. * 3EATUD Feleeltd gU "Hehel T3 DT H1”
4. * YR feeelld gU- " Hepel T3 BT 41"

Question Number : 190 Question Id : 54592732915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST foar Reer Joa ared #1 @ET fashed gl

Options:

1. v 37euTge ( Reard g0 ) "faee T3 &7 "

[

Y

x ETIR ( RIeend 80 ) el T3 F&T FI

b

O

2.
3. = 3EATYh "eald &7 "faehel AT FH&T T
4.

x 3TEIh eald 89- "foieher I3 *&T I1"
0

Question Number : 191 Question 1d : 54592732916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 Tdthed B T+ B ST 1T T Jgrere
o Tolq TEr 3ref eImelT ey gl

qTT & Tl

Options:

1. * G g
2. % TISOT BIH BT
3. = T T 917 &+

4, v TEAT ol

Question Number : 191 Question Id : 54592732916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT #, I) Thedl A &, 39 TFeT FT ITT R
it fgu arv geral & fov @gr 31 aren fashed ¢

ST ol

Options:

1. = Ega‘r &TaT|

2. % FTST FIH HIAT|

3. % UTaT hl 1T o]

4. v UEdTlel oleT|

Question Number : 192 Question Id : 54592732917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § ¥, 39 Tdthed BN T B ST 1T M7 e
& ToIT TET 3ref aTelT et gl

Gith - "TUT AT

Options:

1. v ST IQUl 9Td gl

2. % STSIS-SITST BTl
3. % diRarST GrgHTl

4. = & T oAl

Question Number : 192 Question Id : 54592732917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
it fgu arv Fgeral & fov @Er 31 aren fdsheq ¢

<lerd - SllUE <ellddl

Options:



v EYIYYUT ST gl

% OIST5-S1I18T hlalT|

« JErST STEeT]

ol

% H}ET STOT <TolTaT|

Question Number : 193 Question 1d : 54592732918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl 7 #, IR ordmetl § 9, 39 [Ad@ed @ ad= & 97 16U T ggTe
o ToIq Tgr 3ref arelT erene gl

HIS-his! T T T

Options:

1. = 3G DI g1

2. % TE & AT

3. » IcATHD TLAT il
4, v HF g

Question Number : 193 Question 1d : 54592732918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST feu ate gt & folv &gl 379 aren fashed &

HIET-HIET T ST 2T

Options:

1. = 3T HTH el
2. % oS¢ & ATl
3. % 3cITYh GEAT el

4. v FH gl




Question Number : 194 Question Id : 54592732919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMgTetad v ¥, I aweut & @, 39 G5! [AweT & aa= & St &y My
ATFLT D Tl &I oAleplTeh Tl [adheT gl

JUT el ST TR YA BT 9 2l

1. * Uep T el & A =61

2. % 3G ATE TITY g1 garar

3. v T YT ST piT @1

4, * TS DI IS IR-AR A1 TAGdT

Question Number : 194 Question 1d : 54592732919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl &I WeaT H, I [dshedl & &, 30 T2 [dhed FT T4
FE S ST 9T greraTer & ToIT Tar ellehlfed arelr [aehed &I

i Y
TAY Tohel STt 9T WAcel FlaT &9 &

Options:

1. » Ush AT shiell g olTH el

2. « 3NF = I Gl FHA
3. v T IUT T4 c@fﬁgﬂlﬁ
4. » TS T BT TL-TX ol dodl

Question Number : 195 Question Id : 54592732920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad uy #, IR Aaeul § T, 39 Rdey &1 = & St fau 1o
ATFIT D Tl &I oAleplTeh Tl [adheT gl

Options:




1. = T 719 T 0T

2. v AT R T AT &
3. * 9d WEAD gl

4, » IGDT G T

Question Number : 195 Question Id : 54592732920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
S T&U 910 greramer & TolT Tal dlenlierd aTell [dehed gl

Options:
1. = ?J'QITF-IT?:TFI'S‘-ITE!'DI'UT
2. v Ol U o =TT ar

3. % od AEds glal

4. = IR BT SAdadld

Sub-Section Number: 2
Sub-Section 1d: 5459271956
Question Shuffling Allowed : Yes

Question Id : 54592732921 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



ST TEU T TN @ ST 5 WY 1aU T g1 39 Wer <l el e yeieh U¢ 3T
AR TIhedl # ¥ Yodeh T T Galad 3ol g

WITIIETET egich JAToldl TAT THepwT df g1 g1 SITdT g, eg 31U Gl elithcd
3N SfleT et ST | &1 of T 1 g Ig Tg! FadT ih 3% 7 3¢ 3l i
& g, G- -GS Pl Sh &F 8, 3TH® YK Bl AThdl Ui of g SR T
T a&qU 3UITelU & g T &7 Gyt STl a7 UITEd YT o ag
THUTe @b AT U 3R G 37U Sila hl @I T g 7 of| 39 Tehl
QUIdIT HIZETS, & TR § TSHT A6 J-ZINT § ATelTeh oI b grei
NTUT YT YiTSd GIT 31T TGT g1 &g WG Dl TeST=H & DAT AT TIUTH
WTSIAT 31T TGT g1 TP GelTgdIX T aeT Tol-T TIeyW fbq gr 0= fuaT i mer
T AT & ST gl 37: WHAETET ATl & TR TUE g [ Tg1
TelST=H & AT & T H SN -9 UTH F3AT gl WIF 3N TS o FAT
& T H ITPT T YcAP Tth & (o1 AT 3l SIS =T UTT DHIST g1
gl e IGWer AT gl

Sub questions

Question Number : 196 Question Id : 54592732922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TV, dh U ST = ATIATET SaTehdl Bl M AThdT a7t & 872

Options:

1. * 3TeAGT ST Idid B g
2. « ToAT Qie-AS @ I

3. v 72Uty o AT W o b
4. % 3T W] T Gh

Question Number : 197 Question Id : 54592732923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T STUUT TeheT ST o gIRT glaT 37T 87

Options:

1. * Flgga o &
2. v AL AN
3. % AT & g
4. % U oI &



Question Number : 198 Question 1d : 54592732924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WITICEITET AT-IAT3AT @ STHR A Pl GI-H0 Tl YTH gIdT 3MTAT g7

Options:

1. v el ST=AT h DH A
2. % TS i Mdterned & €7 &
3. % GATGPR P ETH

4, % 7T b FTH

Question Number : 199 Question 1d : 54592732925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST & T - AT AT T e T 2

Options:

1. % 3MMTThH

2. % AT
3. # AcPTAaLgdh
4, v IATIGh

Question Number : 200 Question Id : 54592732926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

59 3RS BT DS UL Aiap:

Options:

1. » FTh o I9@T B
2. * ALET

3. v HIdTG

4, % U T BH

Question Id : 54592732921 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



s faw I argarer &k Wg 5 wea fOU A I TH g wr
ITeash ¢ N IR fdheul H & Ucdeh Ueel T HalcaA
3cd o

ISl cATFd 3MordT J2T faeheAT ar & &r ST &, 98 39
TR cfshded AR Sliger T gl o §eir ofar &1 a8 Ig =
AT foF $eaY & 30 OIF g o &, AIel-TASA HT Afed o
g, 3feleh Y T AfFadT Vel HT & 3 T ART aFqV eI
ar 8 ToF gaT qaehr 3T qur gafead waer ek ag gEWd &
AT 9T AT BIRT 3700 Siidel T GET d2AT HHE Fer of | 30
YR YUIHAT HAEIATE & ToFhd H TSR Hesd JaN-Zam &
ATelTeh S9N o &TAT NiNg AT Nisd a1 37 IET &1 9§ He g
ST Yaoled & AT T TROMH AT 3T 8T &1 Teh HelghN
T ST e IRSH FT & 39a War fr =7 T iRy &
ST &1 37c: HIgAmEl A3l & 3fqaR T & foF I8l
W?ﬁ%mﬁmﬂa@w oTed §34T?r|34'|ﬂr34h'
Y&oled & HAT H T H 3R HET T fod & fow
MAarT & 398 §9 UTAT hice ar dal STesh JTHgT #T &1

Sub questions

Question Number : 196 Question Id : 54592732922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e F AN $eaT o HEIAE! sATFal HT 3Haleh erforaal
FT & &7

Options:

1. % 3TOIET Siidel =adld Y Th
2. » foem O-gas I IO
3.¢gwefr3¥m?‘rq{ Tl Hoh




4. % 379aT BIUST KT Tk

Question Number : 197 Question Id : 54592732923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

HeIsT R QNVOT fohel o9 o ZERT Il 37T &7

Options:

1. = gigale aen &
2. v IqT ARl |
3. = AT & NI

4. % 39er N9 &

Question Number : 198 Question Id : 54592732924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTAATET AT & HTTN Ho[od - S "SI I
AT &7

Options:

1. v qd SeHAl & FH TAH
2. = ofasy Hr afafafer & & &

3. » Hellgeh{ =h &7 H
4.wwa‘raxmﬁ

Question Number : 199 Question Id : 54592732925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH & Pl - TT FoaR FT TORERT T8 &7

Options:

1. = 3TaedH
2. % 3aeIHATAl
3. & cATdeTHh

4. v HdATdedh



Question Number : 200 Question 1d : 54592732926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3O HATde I H$ IUFF M

Options:

1. » =goFd T 3HAT R
2.« Fe[sAT

3. v HEIIG

4. = AT T FH




